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Model-1
Lomdifl eflesrggimeir 2019- 2020 / Model question paper 2019-2020
Uggip augly - X STD @
& euuf1 g0 - MATHEMATICS

(ymiflevtd ompitd Lol / English & Tamil Version)
sevth ey : 15 HIAL b+ 3 ogwf] - & :100
Time allowed : 15 mins + 3 hrs
" Instructions : (1) Check the question paper for fairness of printing. If t
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and penca draw diagrams.

ifleyey : (1) Siveasgy fernds@sd Flng & L, GITGITSIT GTGHTLIENS

sflunisgisesnererajn.  SdFHLILSA]E puLIdesT 2D
SessTsenfilumeniflL b o 1 amguwnss Glsifl
(2) Boub Sehevg &@BUY emLowiene FTWEMISDGLD 2GS
Gamg.Heusn@Ld LIWETU(RHSS Caua(HLD. UL AISET UeNTISDE GlueiTFled
© LwesTL(H&@Lb. \
Note : This question paper contains four parts. QW
@Ol : BRINITSSTET HI6HE, UGS Smed SoTL_G).

@oliy : (1) @ndiflefeh 2 ciren 14 eflcimes @ @LD aflenL WerflsseLD.
(2) Can(héstiu (Heren i@ Lommml  len.&erfled lFayD Flwimest

enLenwig Gk oS (HLeyr  aflev ulenaoiyid  Csigsy
GTLPSLD.
Note : (1) Anwer all the 14 questio 14x1=14
(2) Choose the t er from the given four alternatives and write the option
code and the onding answer.
1. {(a,s),(6,b)} Bag el 1y erefled, a O b wHiysermeaues
wpanGw
(a) (8,6) 8) (c)(68) (d) (6,6)
If {(0,8),(6, k) represgnts an identity function, then the value of ¢ and b are respectively
(a) (8,6) » () (8,8) (c) (6,8) (d) (6,6)
2. 7" = g ?(LDI_'@ 100)
(a) 1 (b) 2 (©)3 (d) 4
74 (mod 100)

(a)l (b) 2 (c)3 (d) 4
3. m@\yﬁmﬁm SaLnds eLpattml Grlieh FLostrn (Dserlssr CETSLINDG Sieyseir
Bevanaubliuefled, 1500STGLIND 26T FHerThigeT :
(a) Gy (5 yerafuieh Gleu (HLb (b) 2@ Cami’ig6eb Gleur” (Bib.
(c) perfletr LBy spatry ON@BGID  (d) peirepelwimeiTay Glowe gy
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',

. . ‘ : ia i i if their plancs
A system of three lincar equations in three variables is inconsistent if p

(a) intersect only at a point (b) intersect in a linc
(¢) coincides with cach other (d) do not intersect .
. QEn@ESIULL ULSHD LBAC=90" Loppitd AD L BC e1a5fl6d

(a) BD.CD = BC? (b) AB.AC = Bcz
(¢) BD.CD = AD? (dy AB.AC =AD

In the adjacent figure £ZBAC=90" and AD L BC = <
ZBAC=90"andAD 1 BC then

(a) BD.CD = BC? (b) AB.AC = BC’

(c) BD.CD = AD? (d) AB.AC = AIQ

5. x=11 erawé Qan@dsiiu L GriGaTLIges FLOGTUTLI
(a) X <1555 BlenesT (b) Y -da
(c) afyeref aufls Grebaud  (d) (0,11) GTGHT,

The straight line given by the equation x=11 is
(b) lel to Y axis

(a) parallel to X axis ;
(c) passing through the origin (d) passt rough the point (0,11)
i : 2 2= t? o erestled k —abr LodlLiLy
6. (sina+coseca)’ +(cosa+secar) =k a+co
(@9 (b) 7 (d)3
If (sina +cos eca)’ +(cosa +sec tan? a + cot® a then the value of kis
equal to
(a)9 (b7 )5 (@3
7. I 2 (H@enuilir LD SigetT 2 Mgl eLpGHTIIGh 6p (1 LIkI GTaHTIeh  HHaHT GILOTSELI
YUy
2
(a) 97; FAVGEET, (b) 247h’ &.H60GEET
8zh’ Q 567h Tt
(c) 9 FHVSHSB (d) 9 FHCV(ESHSBGCIT

®
1
ch inder whose radius is — of its height is

The total surfaCﬂQ 3
2
Orh” o (b) 247h® 5q. units

Sq.aguits

8
2
©) 87@ ) 56;”' Sqamits
8. Gl @3Bl L deusehle) 6T& SQIDTGEIZ) ?

(a) ) R () 0<P(4)<1
© P(¢)=0 (@) P(4)+P(4)=1

Which of the following is incorrect?
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10.

11.

12,

13.

14,
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() P(4)>1

(b) OSI’(A)SI
(©) P(#)=0

W P(A)+P(4)=]

. CTRILG) 1dganaiits Qe it anflena?
(a) Fa L (HS0gmLiy aiflena

(c) GComserm. QB @ichey
The sequence =-3,-3,-3

(a) an A.P only (b) a G.P only

(c) neither A.P nor G.p (d) both A.P and G.P &0

¥ —a whpid (x—~a) @eir 8o

@ (¥ ~a)(x +a) o (¢ _az)(x_a)b

() (x—a)z(x2 +ax+a2)

0 (v (€ @)
The LCM of x* —4® and (x—a)?' is A
(a) (x3 —a3)(x +a) (b) (163%6—‘:1)2
/)

(©) (x—a)z(x2+ax+a2) (d) (x@x +ax+a2)

(b) QU@ QL auflans
(d) & LRGRILI LoHpiLd Gl Ly

nA=p,nB =qeefl A Lommid B & Cuw HenLg@Lb GQLordg 2 meyseras
GTGUSTGHT 1560 %

(a) 2° (b) 2* o (d) 27

If n A =p, n B =q then the total @ of relations that exist between A4 and B is

(@) 2 (b) 2* (c) 2" (d) 27

65 opmitb 117 HSlweunmier Lb. -6y 65m—117 er6t1m auiqalleh 67(LpSIL GuTgy

m-abt Loy
(a) 4 (b) 2\9 (©)1 )3
[f the HCF of 65 and 1174 sible in the form of 65m—117, then the value of m is

(a) 4 '(% (€)1 (d)3
Jgﬂ&d?uﬁ?aﬂ@_ﬁ@g Lolupm  speyliyeTelsEBL L N ITE

Fa_(hHeUTGHI L)

() eTLIGIT (b L&Y GTGUT (b) erliGlumpaiLtd @enm eTes

(c) gcﬂ'fﬁwb@w\ (d) ysSwuobp wpapsair

The sum oﬂ de’ﬂtions of the data from its mean is

(a) alway@PpsitiVe  (b) always negative (c) zero (d) non-zero integer

THPg Lopmitd @& &HCaremihismaen 2ierel(hLb (el

(2)% oL (b) @@L TGS

(c) @urﬁfaﬂasnﬂ (d) ClsamauGrTdd)

The angle of elevation and depression are usually measured by a device called

(a) Theodolite (b) kaleidoscope  (c) Periscope (d) Telescope
87
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15,

16,

17.

18.

19,

I eem 2 peuneng [(x)=x*-2

- 20 Gy gempdi@d Gl

- @ GrieulLd ;:L

A=

H .TrbTnpsc.com
.Padasalai.Net - www
o LI@H- 11/ PART - 11

(Lo 1@ Iedsrasair : 24) / ( Marks : 24)
10 eflowrdiasiem di s efenr_ iwiad;as,

Answer any 10 questions, Que
P BLfld 532 436)
AW N Newn

oiGuIIT GT6T0T 28 -y L 1_rmwitnr s ol weldbman

stion no. 28 is compulsory. 10x2=20
SIS O 6II6r6w. e anflenadi 21 LmGwm gmer el
0. a1ggmas  auflensa wpapentn Glupih  eresiayn LOMMILD
SISO LHOGIL 1 560 LB\ apdi@h srawayn sriaisa,
A man has 532 {lower pots. He w

ants Lo arrange them in rows such that cag contains 2]
ower pots. Find the humber of completed rows and how many ﬂowc left over.
Birda: x' 135 44220 0
Solve : x" —13x32 142 = &

2l A-ufstr cuifleny: PXq oppid iewf B -uflesr aurflen

74 X @\, Siewsflaemenmuip
OLdias wpiquuid s1aleh AR LoD@ILh BA yfweuddlesr aurfand
IFA'is of order p x q

& SITGH0TS.
and Bis ol order ¢ x 1, what is the AB and BA?

6T DIGSILBHE D). @i
xe{—2,-1,0,3} Tend;  Glnegminey (i) e

o0 2. DI UL g wed(Hs
(if) /- <emg U FATUTEGLON?

A relation 1 is defined by f (x)zx2 -2 \AE {'—2,—130,3}

(7) List the elements
of / (i)Is / a function?

APST ~ APQR erem Hmiays.
Show that APST ~ APQR Q

g% 2.arangy). Gamgddlsr 2i.UUGENO B Ez
SmIufed 48L85 @g,nmmmﬂ%@n PG yaralledmis Gamyy o sflsr
THD&BETemID 30° sTa5fl6h, G

HILISEGT 2 widemsd; sresrs.
A tower stands vertica n ground. From a point on the ground, w
from the foot of the tower

angle of elevation of the top of the tow
height of the tower,

hich is 48m away
er is 30°. Find the

2leney 11088 %.0lr.L5 @b, gaLdifsh 2 wWith 24 QFLS
GTGBII6Y, et &,

The volume of a

radius of tI{¢ %

right circular cone is 11088 cm?®, If its height is 24 ¢m then find the

) P(A)Q?)=%,m{bgu&) P(AUB):%mmﬂsb, P(AﬂB)ageﬁa;nGa‘wa;

L@,P(Ek

%,P(AUB) =—1- then find P(A ﬂB)
3 5 3

,n} Loppitd B = ¢ eranileb (i) Ax B LoppId (if) A x A snesyas
Find AxB and AX A for A= {H?,I?};B =¢
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(=4

26.

27.

28.
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9152120, 183 61631 901 (0, Ori_ranflenarufast (5 o i’ jmansartdh a163sa.

Find the middle term(s) ofan A.P 9,15,21.27......... 183.

. @Logellsst gnGunersw auusdsr oGy spasiovmd T lligeineh Elei iz,

@Logaflest @Udm_neﬁw@&@&@ apibesu anuemgitn danflesr 4 adgHnenhL
WS QIDSHUID CL(hdnd, AL liugn@d aotd erafled, seuflgggadsunmaun
QWIS FHTETS.

The product of kumaran’s age (in years) two years ago and his :1g§s from now is

one more than twice his present age. What is his present age?

7

-43 @& yerefuder el Quebaigid 3 QTS D GDLUIZILONTGEH

CridGaHmL1q 65T FLoGTUNL DL & driess .

5

20 ooyl yereflser Q& (pdastiuL L QS}A S’ LaflevdsLd Jﬁ_ AGLD.
PEUCUT(H ST yeTeflyd 3 2460 QUBSSHLILL LT Blenld@Lb. HuaLl Leremserlsr
FILLelevd sl ommith elevds aufdsd & HTGHTS.

The standard deviation of 20 observations is each observation is multiplied by 3, find
the standard deviation and variance of the rg observations.

Q@ Hlmeuetid 25 Glgmésarfley 67 BL LB LE). s Cs@malsd |
OFiqu b, BTEHSTL M6US) @g,@mﬁ? tb, eLpaiTmeugy Gismalley 9 GlFiguytb ML

)

: ) 7
Find the equation of a line passing through the point —40 naving slope —— .

wpiqey QFdiutiul L &). @elGerem ML 615 SMeN blFigHeT CHamay?

An organization plans to plant sapifngs an 25 streets in a town in such a way that one sapling
for the first street, three for the se ine for the third and so on. How many saplings are

needed to complete the work?@
QU@,@- IIT/ PART -1II

uGswaeiT : 50) / ( Marks : 50)
10 eflewrnss@nd b, GIGTTIT GTGHT 42 -&@ SLLMULLTE cileLWerfldaayLd

Answer any,10 tiohs. Question ro. 42 is compulsory. 10x5=50
! GTGHTD &mj%&@eﬂwm%b (C) oéirer Qauiuflenevenwiuyd, urgeiiamL iged (F)
o GiTen @%mwwwwm Bmems@d FajuT@Ld. GLoaD HE) I(C ) = F 163

wmw’ﬁf_nd}, (@, F=%C+32) (i) Z(O) (ii) t(c)=212 A5

ungy C -ebr iy (iii) GQFevFlwssiv Loé?f_':qf_b urmgestaudL. Loy FLoLons
Qurps! CeutiLBleney HENIUDIDS HTGETS.
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30.

31.

32.

33.

34.

33.

www.Padasalai.Net WWW.TI’anpSQ.C?mh heit (F) is
P o temperature in Fahrenhe -
The function t which maps temperature in Celsius (C') into tempe

(he value of C' when

0 P i
defined by I(C):thcrc F=§C+32. Find (1) [(O) (i1)

: p— 2ahrenheit value.
I(C ) =212 (i) the temperature when the Celsius value is cqual to the Fa

: ; eirerr 15 &5l
Grameiip 10 G, 11 Qa.f, 12 Og.ib,... 24 QWr.Lf G161 U‘?}E ‘iﬁ?ﬁ’ﬂ; B = @g‘
- . [ L) 'l /]
QNQQ QUGS HHIGMmIGET o dreney. @Ihg alewens &1 5151569 6007

0 " ) ) . 7
' L DA SIGUIbIGfIhd (LPIGULLD:
Rt 15 o h area can

Rekha has 15 square colour papers of sizes 10cm, ] lem,12¢m,...,24cm. H
be decorated with these colour papers?

Az(l 1),13:[1 2], C[ﬂ 6)mﬂ@A(3+CK®C GIGHTLIGN S

-1 3 —4 2 3 2

Ffungés ?

= B= ’Cz venfy@ +C)—
4 [—1 3]’ [—4 2] ( 3 2] }
Ssnagev Cannses sepd) Bines
State and prove Pythagoras theorem. .
608  swpupeter  Sohisy  ollen g o GEu9emHS @@wg
sL el LsdayeTer @ sliucser panG wpmith 45° @éasGanemsSle

UMF&EDT. @ SUUGH LomeIDT(H asl_'.'u Getreumey Gy SlavsFudled seuhIBEDT
endssg e  CriGaTLIge) 2.6 sTastley,  @esa(h SLILGSEHHGHLD
BenL Guiwjerer Glgmenauameud a;nsm °=05317).

As observed from the top of a 60@ light house from the sea level, the angles of

depression of two ships are 28° If one ship is exactly behind the other on the
same side of the light house, find t nce between the two ships (tan 28° =0.5317).

2wy 10 GF.L5 oHmiL 1 1b 4.5 Gl 2aniw @ CrULL 2 (henarei
2 paunés 1.5 OF.L5 el L_ay 18).08 Siq Lo Glsmetre. cT&gman aul L aNleLEEUEET
Gaanau?

Find the number of coifig, 1 in diameter and 2mm thick, to be melted to form a right

* circular cylinder m and diameter 4.5 cm
UGLYS (Bg;frs.)ﬂei) aufaer Qunm wlibuarser 8 Csm(hsstul (Herere.
AT HEITIGHT LG SGESGS S L @leVSELD FHT6ETS.
6 8 10 12
7 3 ] 9 5

The n%)red by the students in a slip test are given below.

X 4 6 8 |10 12

S |7 |3 5 |9 5
Find the standard deviation of their marks.
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36.

31

38.

39.

40.

41.
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A erediua 8 y 7 i
> a1 8 6 aflid, Geomantesr @uieh eratsraaflshr aemnn, B araug) % g LS

GHODAIIT 1 . . Smnh € ’ y

G@DAUTET LIGIT  c1a81a6ifladr  wamnh wppin C ershiig Gre (s v Uz

aradvaaflstr e sraflel A x (B - C) = ( A x B) — (A% C) arend siflungss.

Let A= The set of all natural numbers less than 8, B = The set of all prime nu

than 8, C= The set of all even prime numbers. Verify that AX(B—C) = (Af B)

S, =(x+J’)+(~\'2 + Xy + }’2)+(Jc3 +x’y 4+ xp? +y3)+....n 9.@11‘16

6163160 (x—-y)Sn - X’ (.\T" _Il) o y2 (_}’" - l) &
x-1 y-1 .

IfS, =(-\'+y)+(x2 +,xy+y2)+(x3 +x’y +x? +y3)+...®v5,

then prove that (x—y)Sn = il (x" = 1) o v (y" _ 1) ! O
1 1 2

x-1 y-1
. 1

£U&55 —+—————=—1-; lz_l_, l.._i.{. 4:2_

2x 4y 3z 4 x 3y’ x 5y 15

1

Solve : —+_1___1_=l; l:—l_; .l__i.@i

2x 4y 3z 4 x 3y x 5 15
RU 2 (penuflelr LBg i L dseEL b BSUTD HDLODS (M Lsue8sT
Congg 2wt 20 CF.L5. o (Heverule 10 12 G\&.f ommib e Ltd 12 GFLb.
AGLD. QL sseinLGdletr GLopym D 24 OF.f eradfled, yewelsir Geuafliypls
uglienud sewisd)(Hs.
A funnel consists of a frustum of a ¢ ed to a cylindrical portion 12 cm long attached
at the bottom. If the total height be Z@ametcr of the cylindrical portion be 12cm and the
diameter of the top of the funnel be 24c##Find the outer surface area of the funnel.

50 LOTERTQUTHET 2 _6TeT 15060, 28 Gurr NCC-uflguiib, 28 Gurr NSS-guith tompitn
10 Gurr NCC ommyth NSS-etd CFIEDTITEET. (5 LomessTau FLoGumitiL) peomufleh
Gaih6\%(hSsLLBEDI; i) NCC -ufleb @mhg1, <uemmed NSS-6b @sbeurriosh

(i) NSS-6b @)mhHs® CC-ufleb @evovrrosd (iii) pairGn speirnled ol (Hib

Gabg BIBUILSHS DBHR|HENGIT & HITGHIS.
In a class of 50 s% opted for NCC, 28 opted for NSS and 10 opted for both NCC

and NSS. One gf the stifdents is selected at random. Find the probability that (i) the student
opted for NCC ot NSS (ii) The Student opted for NSS but not NCC (iii) the student
opted for exac them.

P WG FHIGT  AQUUSHLD AT GEHWUISmS . 4 QF.L5 xFsip.
@J;Gasn% ugliueney 48 &g L6 erafled, g6 Suqlussd LOHMILD
@5@% G HEET S HITGHIT .

The b%b triangle is 4cm longer than its altitude. If the area of the triangle is 48sq.cm,

then find 1tbase and altitude.

Q1
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/1] DAIGT6 2,1 wpmio
Guii 1g6¥ LEZI s

- P’
3,-2 2357 25
42. p apsGanembhes Lo S I4 ,@meﬂushsrf
) ey /
oIl yeireflser. y=x--3 6D G/

DIGOLOESTE) <D GEGT ;s TV _
of " 3 - and 7} The third

The area of a triangle is 5 sq.units. Two ol its vertices are 2.1
vertex lies on the line y=x+4-3. Find the third vertex. Q
u@h- 1V / PART -1V o
(hlGuetrser : 16) /( Marks : 16)
SLpdsmTamLd NaITESEn5E afleoLwaorfl&&a|LD. &

Answer the following. . . '
: 1 ; 5 3 —2= &Ta3
Bo) y=x'+x-2 @& aeguLd IhS SIS sl x° +x—2 D

FLOGTUML 19.60GNd T d:db@LD. \
eit 150 equation X~ +X— 2=0.

2x8=16

a) Draw the graph of ¥ = x> +x—2 and hence us
(OR) (H6b6vgl

<) $iés: 2x+y+4z=15, x—2y+3z=13, *:=2.
Ry =2.

b) Solve: 2x+y+4z=15, x—2y+3z=13, 3;

44.1) Qasn(paslulL  wpdGsnewd ABC-

- 6
SILOLLOTR (1 QUIGCITSS (1R QUIE. (HTa BT —5—)

6
a) Construct a triangle similar to :@ triangle ABC with its sides equal to -57 of the

6
corresponding sides of the 1ria1@c ( Scale factor DT ).

(OR) (16bevg)
b ABCU6v 2B =90°, BC =366 oppud AB=40518
mny ACeT 18- D et@nid yeirefl o cireng). AB -\

24) Csm(HIHSLILLL (Lpd

LOWILILGTGIT] wopid E g @oewdgs CB @ F - shdld@ony
DE -go b @% & BTG
b) ABC is a triang /B=90°, BC=3cmand AB=4cm. D isapoint . 4y,
on AC sudh that AD™=1cm and E is the mid point of 4B8. Join D and £ and 4
extend D &‘ CB at F. Find BF. " /
l/g 3

Ny
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Model-2

i aner 2019-2020
Lo hif) eNewtdigmer 2019~ 2020 | Model question pape!
. LIGTLD SIGLIL] - X STD

5amﬂ§¢»nhvnnmmvncs |
p / English & ‘Tamil Version)

(<2yrirhleuth LODDILD &

sl anay 1 15 Hidip + 3 toswf] b

Time allowed : 15 mins + 3 hrs Y  oF of Faitoess,
Instructions : (1) Check the question paper for fairness of printing. :
inform the Hall Supervisor immediately. ' '
segeil to Mraw diagrams.

ooy : (1) civads elembaash giflwnsg 18l U

b

(2) Usc Blue or Black ink to write and underline and | . .
O 17700y 2_GITGITHIT GTGOTLIZND,

ufindesr  2Henn;

FIALN TS5 56516 e@ LD. 14 g Iuhale)
sasaneitunenf b o e wris G5!
(2) Boutb ebevgy G(HUL ELOUINGHET LD

Cang.(Paugn@ip LweTu(hss Ceauessr(h'LD.

LLIGHTLI(B'SH@|LD. \
Note : This question paper contains four parts.

@oliy : @eieflennSSe 6T U@Hlsmaend GUOTL .
U@l -1/
(Lo 1G)ieBsTSH 6T <14 % arks :14)

D GIUPHIISDGID  Nq.5
L6 QUETRISNE CILIGTHIE)

@iy : (1) @uhflalleh 2 sirer 14 G@LD e WerldhEaLD.
(2) Casr(RssiuL (Herer winm e safled Bsayn  Fiflwmes
il eniwg  Caimelalesal) GOl Brer aflen uflenasiuyn  GFisds)
GT(LPSHALD.
Note : (1) Anwer all the 14 queStién 14x1=14
(2) Choose the correct answer from the given four alternatives and write the option
code and th es ing answer.

. J: A— BeTattug) 6(im m(mﬁq Lopmitb 1 B =7 erevfle, n A %GBTQ

()7 .(x ©) : (d) 14
If f:4— Bisabij ctionandif 7 B =7, then n 4 is equal to
(a) 7 49 ()1 (d) 14

A= 1,2,3,4.,!%55@ B e samsdlie 1024 o payser o creng erafleh B -cb

o siren W creienildens
e (b) 2 () 4 (d) 8

If there 4 relations from a set A= 1,2.3.4.5
= 1,4,5,4,0 to a set B, tl
o S / 1en the number of
(a)3 (b) 2
1) | | (c) 4 (d) 8
16°8°12° 15" T O\ reufanaussr 2Bds 2 pi'iy
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' |
a)— b) — 2 I
( 24 (b) 27 (b)'i' (d) sl
The next term of the sequence - 111 oo 8
VR

1 I
(a)— b - ik |
24 (b) 27 (c) 3 () Pl @

4 .
X 4 —61) I L . . .
. X H64-83 Wup et diaiona Loy SIGEI_GH 618,531 I 1L Ba %

(a) 4x? (b)16x° (c) 8x (d)
Which of the following should be added to make x* 64 a perfedl squ?

(a) 4x° (b)16x (c) 8+ 8’
X +8 .
3. F_2r_g oD N Eswpmr Canenaniesr efevdsiiun L uhi
()8 (b)2 () 4 @ 1

]
The excluded value of the rational expression s

xt=Ix= N

(@) 8 (b) 2 () (d) |
6. @ Crilw ushaumin'iys: Caneneuulssr Gu@g

(@) CprGan(® (b)euL b (c) smmb (d) <FugareenuiLp

Graph of a linear polynomial is a

(a) straight line (b) circle @abola (d) hyperbola
7. 2 LGSl Hgpid Gl F 515515 SALoLLD @) LD

(a) eoLowib Qb) Can(hyerer

(c) wpigafled] (d) Brresst
8. A tangent is perpendicular to the¥a at the

(a) centre (b) poin:%tact (c) infinity (d) chord

(2) 0 F=216V& 6T (b) 25 F.216V&HSHET

() 5&F .16V HEIT (d) @eupmled eTgayLblsvenev

The area of a triang] y the points —5,0 , 0,—5 and 5,0 is

(a) 0 sq.units . 5/8q.units (c) 5 sq.units (d) none of these

-5,0, 0,% 5,0 dlw yeraflsentey Siepwssliu(bb pdHGsnemisslsT Ll
® \
D
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0, 3xv—y=4d toppno x--y==8 ,;g;,,mu(3;:,51(3111,;;@%«}; g ihh)eh

Dabeytn Lyarat]
((U 41 4

(n) 5.3 by 2,4 (c) 3,5
The point of interscction of 3x— y =4 and x -+ y=8Is "y @
(1) 5,3 (h) 2,4 () 3,5 (d)

X

. |
a) 25 2
(a) (b) T

. 5 |
If Sx=sccl and == tan@, then x* —— is
X X

5 |
10. Sx=sccl opmnp = = tanl erafled, = — —abr ol
x*

(¢) 5

5 equal to

]
a) 25 5 = c) 5
(a) (b) 58 (c) O
sin 90— sinf cos 90—0 cosf
1. + =
tan cotd .
(a) tan@ (b) 1 (c) — (d) sin@
sin 90—@ sinf cos 90—0 cos()_
tand cotd B O
(a) tand (b) | (c) (d) sinf
12. @dLIsaTLSS 5 UGHWTSHS 615 P FaLDINGST 2.WLD LODDILD YLD
. @D, QL sa Sl 2wiLD

oG/ VGHET  LODMILD
LommLh S uSSESSET ATLD LPD
Guostd h, : hy =1:2 e1adtled, ry 11—

(a) 1:3 (b) 1:2
The height and radius of the con

repectively. Height of the fi
hy:h=1:2then r, :4; is
(b),

c) 2:1
uch the frustum is a part are / units and 7 units

1y ACVGSHET LODDILD 1 SHVGHET ASLD.

d) 3:1

im is /A, units and radius of the smaller base is r, units. If

(a) 1:3 (c) 2:1 (d 3:1
13. (LpFH6Y Lidhd| LIGIT GT@] F & '
(a) 9 N (c) 27 () 5
The range of firs riifie numbers is
(a) 9 ® 20 (c) 27 (d)5
14. (1ps6d 'n'@u 5T GTGET SFITTEFIf]
nn+ 7 1
5 ®) 7 (o) F @ n
rst 'n' natural numbers is
9& n 1
WS O3 0t @
96
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U@k 11/ PART - 11
(ofliQuetsaer : 24) / ( Marks : 24)
10 flends@nd @ eflenrwedia, el eradar 28 -3:@ L LmuLon s eflent_werildaa|b ®

Answer any 10 questions, Question no. 28 is compulsory. 10x2=
Retstin 2mey  x,y /y=x'43,xe 0,1,2,3,4,5  arend QanBssiiu(®er

Bt Lol iusgemgu)n VI FEGDSHULD H168 5.

A relation Ris given by the set x,y ly=x'+3,x€ 0,1,2,3,4,5 . N ts
domain and range,

fx=x-1,gx=x=2 Loopid go f a =1 erexfleh a -g0d HnaES. 0

If fx =x'-1,g x =x—2,find a if go f a =I

PO Foaundiys GCsngoenuisy A, B AN, 9@@@% aflevd LD
bl&Lhé Elseir, Goguitd P(A @)svaev) = 0.45, P AUB =0.65 c7aleb -85 F1EEATS.
If A and B are mutually exclusive events of a random expe:Nnd P not4 =045,

P AUB =0.65 then find P B . O

px =x"—5x—14 GG  LIGLEY MILILSGCETEGIEDILI GTGID  LIGORYMILIL|S
Garenauwmeh au@ds x—;;- eTaLd aflenL. e & 6 ¢ X -g05 SHITGHTS.
X
Dividing the polynomial p x =x*—5x—14by z@polynomial q x yields I_;,
x+

then find g x .

V71 -3

A=|— 2 |erafleh, (—A) -eir TeMLOTDN] HeRTEILIS HTEHTE.

NC— q
N7 -3 .\

If A=|—/5 2 | then find thefraSpgse of —A.
B=5 o

AABC yewg ADE \m@wng‘;g,@)su. Guao BC=30#.6, EF =40&.6

LonmILD (p&HGaTemd A G ULy = 54 QF.8 % erafleb, ADEF -ufsir Llieous: smeisrs

If AABC is similar to such that BC =3cm, EF =4 cm and area of

AABC =54 cm..\ rea of ADEF .
sin@,—cos? LD@N sinf,cosf eratrm yeraflsemer Banewa@id Grid Gam g6
FTUIGDGUS HTCUIS.
Find the slope of a line joining the points sinf),—cosf and —siné,cosf .
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22,

23,

24,

23,

29,

. B s wpupsEeT p o LOm

cOmgrete patio. Find the area of the patio.
50, Byt Gpoiens s14pd) Blem.

www.Padasalai.Net WWW.Tranpsc.com

rransl (LpSBaaTs

; . . Gl i35
19,3 eretip 1yairaflonis 2iq.uimsd; Qmrratar. @abINIesIG 0 o 45 s1afla
316500 (il

' ) . H ¥ 1 J}l’
angaled o cirangy. wevyujLeir @sipl GHUGHGID T T ey,
@as et 2itg. Lommnb o.d Hlevis @leneurdi@Lh Gam-1g s FLOGHTLITL DL

_ . tioation of the hill to the
The hill in the form of a right triangle has its foot at 19,3 . The inclin

ground is 45°. Find the equation of the hill joining the foot and top.
N+ 6, x+12 opmith x + 15 sratruan @ Quapies Oy o
WG eLpstil 2 mILIL|GTT 6T6afleb, x ~GHT LOFNIGHLIS, STGTIT- R
Find x so that x+6, x+12 and x-+15arc three consccu& s ol & v
progression.

14-24-3 441 =666 61601160, 1 ~6i7 Lo IEDLIG; HTCTTE.

If 142434+ n=0666, then find n . ' '
103U 2 wyepsirer Gamypéder 2quiledwba 3 ' 1eneUaTlsD %@U‘ﬁﬂ‘m 2.61Tern
2 yaraflfedmhg Camygdda o-dfiufe @mmﬂ GuibooGH SIS

Find the angle of elevation of the top of a tower§o int on the ground, which is 30m
away from the foot of a tower of height 10«/3-

Aol QBTI_IT54)

. L0 2 wiisamen et @b GBT UL L FaLDLjSENGH 2471516 1 2 3 676510 NEILEE A

o ereney. g lbysefler owgh Al FNgle HTSHlT el LOL MBI 6Tastleh,
uenenULIL&eHes aflEiBLD Hretsas?

The ratio of the radii of two right circul::oof' same height is 1:3.Find the ratio of their

curved surface area when the height one is 3 times the radius of the smaller cone?
by Huaupern p=a’b’® LDOID g=a’b e
TS BWIGILD; a, b eTGHTLG 7 ¥ arataer  eTealley, LA.OWM.Lo. (p,q) X LOGILM.sy.

(p,q)=pq e1eni& FAuTFs
If two positive integers pand ¥p#are written as p=a’6’and g=a’b : a,b are prime

numbers, then verify LC xHCF p,q =pgq

. 24br Ux22br Ux1 ) enayeren said GFaiais auqer s Flessiingselmhs)

6br U el L ieroeier L @6uT(HB6T TESMET 2 (HaUT&SUTLD?
Find the number cal lead shots, each of diameter 6¢m that can be made from a solid
cuboids of leﬁk uhensions 24cmx22cmx12cm
Lu@&$)- I / PART - I1I

(LoSli6luadsTEeT : 50) / (Marks : 50)
10 W@ aeoLweflds. eflewT e1aier 42 -&@ &L L muLons afleor_wierflésab
Ans ny¥0 questions. Question no. 42 is compulsory. 10x5=50
5@@ haEFe) Gansdlar et 2 GTUPHDLOTESIZY UL Geb STLIQUGITITLILY.
:@ Oul (Heirengy eraufleb, 2 6T LpbmSEetr UTLIL Snesa.
n igure, the quadrilateral swimming pool shown is surrounded by

O(-10.6)

State and prove Thales theorem.
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32,

34,

35.

36.

7.
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; ‘(1) 4
) $ = eu1dh (K%,
/ X :.\"—'4, JLRY :,\‘1, h X =3_\:—5| a1auflsh fog oh_.fo g()’] 616514 & b
If [y =x—4, gx =x"hx =3x-5 then show that fog oh=fo goh.

W . 0 i ) 4 g - T - ‘77;"!‘,7-5_
() 67+x=1 mod4 er6briig i It (g dia g1t @EDDbHUL T 10505 x - 5% &%

(i) $rdas 5x=4 mod6 . @

(1) Find the least positive value of x such that 67+x=1 mod4 Q
(if) Solve 5x=4 mod6

- 20 Csweiaierer fQaend@ | e 49y G é‘ia'ﬁo’l’fsbift.ﬁ
QuLpBISLILL (DeTang).  Qlrilelehr oTIgmE  (psTesIsT siren  Qi(HEer sy

oI asaflesr sgalevdstiasais da L (DG0\BTenmS@Gd FLoLh aggylleOpe\Fhbledsh oL’ (5
SSNNVEBSDE S FHT6TTS

The houses of a street are numbered from | to 49 . Senthills l numbered such that the
sum of numbers of the houses prior to Senthil’s house is c%al 0 the sum of numbers of the
houses following Senthil’s house. Find Senthil’s house num

PG BTIILD eLpsiim) LD HIL LB AN NGhLTs Bue() semess SIGVVG/
GODBEEULEFD @@ 1, Sicvevg) SO IO,
HS LS EMm6Ud: SHiars.

A coin is tossed thrice. Find the probability of
two consecutive heads.

Quas(® paghisear A wnmio B -

EGMNeVd i1 e Fa_L- (B &0l nemamwneg G idhledss Gl‘?l_% SIGIFHTH 2 GMaT

 sdeEeT EdLUUSNHBTHT
xactly two heads or atleast one tail or

i sneugdled Hlevayd GauriuBlenen

BSILD A-6ir GlauliLBleney (ig.8) i 18120 (22|24 |26
1F 1471517118

6Th%  BETLOTES  GleuliLiflen
Cl&TeTTL g)?

The temperature of two citi in a winter secason are given below.,

W degree Celsius) | 18 [ 20 [ 22 24 |26
degree Celsius) [ 11 | 14 | 15 | 17 18
n temperature changes?

Find which city is more

A= xeWl/x< <

EN/N<x<4 whpup C= 3,5 eraufleby
AX BUC = 4XB U MXC ersiruanss Frlum g,
Let A= x W, x, B= xeN/1<x<4 and C

Ax BUC = U AxC .

F155 newsl] s eLpeuflahr FONEH Quwgy 53 2AGLD. S aH1e0sH UGy
Ung) e 67 Quwled eLpstTaey PO UG LoHoind eunenilufe 3
(b u@&g@ww@gﬂc&r Ja (DB 65 510, IBIGST &5 <4e¥e1(D s @rp ;

Uwg euneniluiest enuemst Gure BIG& 0L, eTeuflel
QUWIENHS: HITCHITH?

= 3,5 . Verify that
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53, One half of her grand

pe age of .
) 65, FFour years

ther and her [ 53 One i
-fourth of Vani's agc 15

»r grand father have an avera

- iUy &

plus one-third of her father’s age plus one

father s age piu : l s oy
azo if vani's erandfather was four times as old as vani then how old are they all
s 4= 7 g crafldy A +B =1 e16vd: a1 (h .
- 0 cosb|’ . 0 sin !-’J
‘cosf 0] ‘sin# : o
7 : ] then show that A° + B =1.

If A= =

0  cosf| | 0 sind)| o
' Garermiugd) angafey 2 eren o Gansd S 19 GHT =25?'Lb 21br.U mg)g;?,'m
i Zsreemn 21673, aIlL GansmI@GSuNesT I hIBEeT Qssidg
TATEFIUBLD Fo(LITET F57 AN HIGTNS.

)

-y

A metzllic sheet in the form of a sector of a circle of radius 21cm has ccnt.ral angle of 216°.
The sector is made into a cone by bringing the bounding radii together. Find the volume of

the cone formed. B .
o7 Gns uiddr Gubynil  Flofsr G5l augaflayILb, {Egou.ugx.o
e F 56N aNgalaiLn 2.aang). Bl dHaE S5 el Liimemr  SbrUopmib
2br I o, Bosuidler Guwrss awgn TbrU  asab BBSHSLOTEITE,

19

=

41),

G)nra)s U Zls5 ymiuglientid &netrs.

A shuttle cock used for playing badminton has the shape of a frustum of a cone is mountfzd
on # hemisphere. The diameters of the frustum are Scmand 2em . The height of the entire

shuttle cock is Tem . Find its external surface area.

41, Klamaomman Giflss 185 UKA  Geousgflebd Qrsvayd o1 Buibyl uLsmneng 24 » U
anysmy Bifldn Bamsulsy s den Grrgms oM Biler ecdlidloFullsy HL5s
ta (Waaon s | LassflGmrin Gaamaniuhng). hilssr Geusld H16srs.

A Motor Boat whose speed is 18km/hrin still water takes 1 hour more to go to 24km

upstream than to return downstream to the same spot. Find the speed of the stream.

420005 Slpndlifah 2.unyin 1.20 @in. 8820 2.wydhled SeniiolLions srHimley BEHLD
L ament -2iatatl gengufsh  lerpaury  ungafoner. @ yaTeflufsh usyTesfls
S Ganasnn 60", Sifly GrydHled wp@on Lerefued uayreflss arhmEGsmenmn
30" yads s, Dy Dl QaualuNeh LeTesr Hi_isg IS HMatTS.

A 1L.2mitall girl spots a balloon moving with the wind in a horizontal line at a height of
88.2mfrom the ground, The angle of clevation of the balloon from the ceyes of the girl at an

inslant is 60”, After some time the angle of elevation reduces to 30”. Find the distance
travelled by the balloon during the interval,

UGH- 1V | PART -1V
(oliGuedsraer : 16) / ( Marks :16)

dipdiangmi aferdsende afleL werlldaayLp.

Answer the following, 2x8=16
X0=10

43.2) y = x* = 5x 6 ~uatr QUSHILIL LD GUGHITh5), S1genauTLs LwesTU(RSS) x* —5x —14 =0 61687
GLOGILINTL-GDI_ 2, ST diesayth,
a) Draw the graph of y = x* — 5x —6and hence solve x* —5x—14 =0.
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(OR) (2r6hevgy)

= “ — "‘ -2
) 160" =24 + a—1 W 4 poy o +49 aradrugy span apap ontdiaid 61aafled a 1oHpiD
b A weunleyr Iy s s sieisa.
b) Find the values of o

44.3) 4br U

and bif 16x' =24 -+ a—1 x4 b1 x-+49 isa perfect square,

2ATAPSTENT  au'L1h uenhy) 21t entot G0y %
51

Carenavalaysirer o ; . : i ! s
@ yeireflenwtd, @nfld,gy i jsirafufedmmay aut' L 45He
C31(BCa1(H6r UM . S ! UL NN

a) Tak int which i
) Take a point which is Iemaway from the centre of a circle of radius @(Iraw
two tangents to the circle from that point,

(OR) (2r6bevg)
%) ULHSleb |QPR=90", PS 2Ag) LP -@)str @ moriotaur’iq.
Guoyid ST L PR 6136y ST x PQ+PR =PQxPRren ;F,?wao

b) In figure |QPR =90°, PSis its bisector. If ST L PR prov haO .
STx PQ+PR =POxPR A m\
Q .
\ 5 id

O
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Model-3
Lorndlfl efewrndgmer 2019~
uggnio e - X STD
g eooflglh - MATHEMATICS
(< hihlevLd Lommitd GLoLp / English & Tamil Version)

seud <ienay : 15 Fio b + 3 toawfl
Time allowed : 15 mins + 3 hrs M' !
Instructions : (1) Check the question paper for fairness of printing. [f there 134 @
inform the Hall Supervisor immediately. R D
and underline and cil diagrams.

(2) Use Blue or Black ink to write ‘ ;
oinfloyey : (1) Sievandg) elennésE@bid sfluns sEa0 USRS 2_€ff6ﬂ§:ﬂ GTELIDS
Fflun$5)SCBMETenayLD. ogaluSlaly eopUELIIET  HPDS

getTanenAtuneTfiLLD 2 LIS Qziflad] )
0 GTUPHIMSDESLD 2195
(D

-2020

2020 [ Model question paper 2019

(2) Bovid <icvevg HBLIL LI . , 2109
Gamig Hausn@Lb LweTL(HSS CQes ST aUETABNE OGS

uwiehL(H &S LD-
Note : This question paper contains four %
GOl : Qerellannsner HTeS LS Gene QST F-
UGS - T-1
(Log)LiGGHaT 4) / (Marks :14)

@Ol : (1) @in9flalleh 2 66 bl Florlem e werfldEaLb.
TGy 1@ Lomhn e sariled Wiasayd  Fiflwimes
G @DUIL (L6t e ufevammuyd  CFISH

STUPSALD-
Note : (1) Anwer all @uestions 14x1=14
(2) Choose the cof€ct answer from the given four alternatives and write the option
e corresponding answer.

1. A= a,b,p C= p,q,r,s eiefleD n[AUC xB]eg,mg,j

() 8 '\ ) 20 (©) 12 (d) 16
A N B= 3 ,C= p,q,r,s then n[AUC' xB]is

8 Q (b) 20 () 12 @) 16

@a
& 1 *eratrugy N-O@whs L& areyupssiuL’ (PeTenss, eTefled f G

) N © 1,-1 @) Z

\ Given f x = —1 *is a function from N to Z. Then the range of f'is
(@) 1 (b) N (c) 1,-1 d) Z
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B U2 3 1S L2315 -y Loy
(a) 1120 (b) 1420 (c) 1400 (d) 1452
The value of 12422 3% 4o 15 — [ 24315 s
(a) 14400 (b) 14200 (c) 14280 (d) 14520
4. 24446442k =90, arafleb k -abr Loy
(a) 8 (b) 9 () 10 (d 11
If 24446442k =90, then the value of kis @
(@) 8 (b) 9 (c) 10 (d) IQ
5. 8y=4x+21 eretrp Ot CGamiiqelr sLoahiunt’ iy e Spaataaupmieb 61 o?
(a) #miey 0-5 opputd y - Qeur’ B 2.6
(b) Fmiey 5 opgid y - Cleu Hésiata(® 1.6 &

(c) #mie 0-5 wppnd y - Ceu HegET® 1.6
(d) smiey s oppid y - Qi Bgsan® 2.6

A straight line has equation 8y =4x+-21. Which of th fo is true?
(a) Theslopeis 0-5 and the y - intercept is 2.6 s '
(b) The slopeis 5 and the y- iniercept is 1.6

(c) Theslopeis 0-5 and the y - intercept is 1.\

(d) The slope is 5 and the y - intercept is 2.6

6. 6x*y,9x%yz,12x*y*z Eweummlerr LB,
(a)36xy°z* (b) 36x*y*z g 2 (d) 3y

GCD of 6x*y,9x%yz,12x*y*z is Q
(a)36x7°2° (b) 36x* y‘ ! (c) 36x*y*z? (d) 3x%y
1, W@ =

7. AABC -6, DE || BC,AB= » 2.4 Q&b ommid AD = 2.10&L5, eTerlley AE —a3r
BerLd

(a) 1.4brU 8brU (0)1.2brU (d) 1.05brU
In AABC,DE|| B_, 6cm, AC=2.4cm, AD =2.1cm, then the length of AE is
(@) L4em 1.8cm (c) 1.2cm (d) 1.05cm

8. 12,3, 4,a FmaT Qanewtd@Ld CHML 196 Fiiay % eTaufleh, a-Gir Loy
@ lo () 4 (c) =5 @ 2

@the line joining 12,3 , 4,a is é, the value of a is
(b) 4 (c) =5 (d)2

€
. .%—gg Qau'BHLd yeireflunas QanerL @)wm CrisGam(pser
) x—y—3=0; 3x—y—7=0 (b) x+y=3;3x+y=7
©) 3x+y=3; x+y=7 (d) x+3y—3=0; x—y—7=0

2, lis the point of intersection of two lines
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.1 Joy=17
() x=y=3=0: Ix—y-7=0 (B et SR 7=0
(©) x4 y=3: x4 y=7 (d) x4-3p—=3=07 x—=y=1=1=
tan eosec’0—tan0 - &br ooy

(a)sech (b)cot? 0 (c) sinl/ (d} cot?

tan feosec’@ —tan @ is equal to

(a) sec® (b) cot? 0 (c) sin0 (d) c"t@ o
D1 A7aCHTENSHT QLond st UL ANGe! 25 HeIMLL D8N et
LDL AISTEGLD?

(@) @ (b) 47 (c) 3m AP——

The total surface arca of a hemisphere is how much times fic SQ4gre © its radius’

@) ™ (b) 47 ()3 " d) 27

367brU° s veney Qe s CanendEar 2 '

(@)3brU (b)2brU j (d) 10bru

If the volume of sphere is 36rem’, then its 1 al'to

(a) 3cm (b) 2cm (d) 10cm

88,88 ....8 AW gyeilsir eidF s

(a) 0 (b) 1 (d)3

The range of the data 8,8,8,8 ...,8 is

(d)3

(a) 0 (b) 1 . -
< hidlev a@gggaﬂ% capdg  Fwamiiy wpopud  Gzje

QetiiuBEDS. ABINGTDSE  1-6G& (PEDSW CTDSSIFETIGY RIS

B BUUSDHHTET ﬁa;gbgq) :
ia 23 g
(a) ﬁ (C) -2—6- (d) 26

)
3
If a letter is chosengom from the english alphabets, then the probability that the letter

chosen pr%
12 1 23 d 3
(a) 7l (b) m (c) 7 (d) o8
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u@d- 11/ PART - 11
(Lof)Puatnaer : 24) 1 ( Marks : 24)
10 cllenn 4, efleniwelds. cllen srety 28 -4 s LML el walldaa)ib

I

Answer any 10 questions, Question no. 28 is compulsory. 10x2=20
15. [:N—Nership anjuneng) f x =3x+2,xeNeren ausqupidsiu@GEng s,
290D ib 53 -7 (1psdr 2 (153,:36061 4 H16355. Q
Let fbe a function 7 :IM — Pidefined by f x =3x+2,xeN. Find th Fmfices of
29,33,
16. 775%3%24-3 a1651U%) (5 U@, eTa3semin? 2_eng) aflenlenits ) n@ga.
Is 7%5%3%2 43, a composite number? Justify your answer.
17. 34k 18—k, 5k +1 a1shiuenas @ gat’ BF057L 17 auflensuilong eramen eresilsh k -a41
Ly sneins. 6
If 34+k,18—k,5k+1 arcin A.P, then find k.
18. T +2" 43 oo =16900, 6767160, 142+ 3+ + N oI 11 576375,
I 17 4+2° 43" 4o 44 =16900, then find 14+2+3 -+
7 8 6 4 11 -3 \
19. A=|1 3 9| B=|-1 2. 4| erefled 2enenid F16ETS.
-4 3 -] 7, 5 10
7 8 6 4 11 O
IfA=|1 3 9|,B=|-1 2 find 24+ B
-4 3 -] 7 5
20. CLouwsC et amaman eLpaUrEis nasL. 3x” + ko481 = 0616510 FLOGTUML 16T (1
eLPGULD LOMGIDIT(L, eLpsLSE) SLD 6155716V, k -ufetT LoFIS SnesTs.
If onc root of the equagign 3x” +/x+81=0 (having real roots) is the square of the other,
then find .
2 2
AL = L2078 cofleh, x*y? -6i7 LBy sneiTs,

3a* - 2a* —2a—4
acd ]y — a*+2a—8
T 2a*—2a—4

, find the value of x*y2.

22, @&H@’ﬂfﬂjﬁ airen ULl AD  eratugy  |BAC-eir @mso Geuriquimin.

N\

23,

, AC=140rU - pppun BC=60TU Gl BD woppun  DC -spé:

L3
9
g

the above figure ADis the bisector of |BAC, if AB=10cm,
AC=14cm = —e¢  and BC=6cmfind BDand DC.
gmi1ey 1-gd OlamenrL CridGanLiqetr Fmlia)d Ganewib eTeien?
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What is the inclination of a line whose slope is 17

24, 2018 o wnapeiren gL ddadr 0. dSulleh b eNevanunt’ @ el oz Qsnes®
goquiled o_cren @ uhes, 60° @ndadGanesmdhled snagHpny eefleh sl
S UILGH @D upEn@Ld L Guiuysiren Q1eneuaald; BTGEsS (3 =1.732).
A player sitting on the top of a tower of height 20m, observes the angle of depression of a
ball lying on the ground as 60°. Find the distance between the foot of the tower and the ball

(V3 =1.732). %

25. safloar Qanan(® Qeuiule 2408 e wgapsren PG Fa_LD hmg
<05 TapeTer (1 o (mevenuns iHpdng eelled 2@@@!&9@%5&@(?
A cone of height 24 cm is made up of modelling clay. A child res p@ ¢ form of a
cylinder of same radius as cone. Find the height of the cylinder.

26. @ swamilys Censmanisy 9@ Hepds) Adds. QEG Red =P A =17:15
LoDHMILD 1(S) = 6406TaMe) P A -E0d SIS
If A is an event of a random experiment such that P :; F@]? :15 and n(S) = 640then

find P 4
27. e yered efeughugaflssr Fgnaflunsug) 25.%&) g5t Lommiunl (B ClsLpeunasig)

18.75 6Te3f6h, 6T S L cleVSEES DSBS H16Y
The mean of a data is 25.6 and its coeffi variation is 18.75. Find the standard
deviation. Q‘

. 28. 3x—5y+7=0 wppib 15x+9y S CriaCan(bseT ETISCISTETI

CF RIS 6Tew BlMIeys.

Show that the straight lines 3x 0and 15x+9y+4 =0 are perpendicular.

11/ PART -1I11I
&6iT : 50) / ( Marks :50)

10 afleurTda@nd
Answer any 10 queSt

29. A= 1,2,3,4
6TEILD Jng'r. \— 1 erewd Qan(Béastiuc (Berendy. Qs miidene
(i) = @D LD (ii) 11 cuememr
(il euflana g rTiq HGITIGHT HEWILD (iv) euedguL b HSWUDDTE) GDG:S.

2,3,4 and B= 2,5,8,11,14 be two sets. Let f: 4— Bbe a function given by

uestion no. 42 is compulsory. 10x5=50
= 2,5,8,1114 erstruss Q)b SewnhiSeiT 6T651%. f: A— B

x—1. Represent this function

y arrow diagram (ii) in a table form
111) as a set of ordered pairs (iv) in a graphical form

@
\. yefuSiiiy eflegudsir smyewons teflaigsafled (b CLITBET SLEGLD SMTLOTISS
st =% gt* +ar+b erewd Qan(Rdsiul(Berens) (geag yalufity eflensulie
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SIS GIHUGID WO dstongd), Qb a,byfuenar onglellaeir. s 1 anzy
PSSO\ ETGS T GY FMTUNGLOT 6168 4711105,

An object travels under the influence of gravity in time fscconds is given by

l . y
st =-2-gf2 Fat+b, where (gis the acceleration duc to gravity), a,b arc th@“‘"“'

Check if the function § 7 s one-one.

XEW/0<x<2 ,C= xeW/x<3 G@

= AXB N AxC 4 giflunyés,
Let A= xeW/0<x<5 B= xeW/0<x<2 ,C
AX BNC = AxB n AxC .

A= xelW/0<x<5 B=
Ax BNC

= x €W [x <IMthen verify that

3+6+124...41536 168D OBE @S Oz e o

o Db @
Find the sum of the geometric series 3+ 6412 +1i5%‘

9 e UGSU(H'LD SIDMEG] eupsiTiflevdias @uich GTGBIT HarlasT BGD) FTesTH.
Find the sum of al| 3 digit natural numbers whicfy divisible by 9
20x

4x? 0 2
—y— +—+13 -3 +9—};— 9(27)) G&nmmasgyxvm H1GE5T 5.
y x x

2 2
Find the square root of the expression i@ +13 =G +_9y_2
x x

5. TGS WiEH apeomuiey X+ 7

: 616D FLOGHTLITL 1q 65T diey sresns.
x —

Solve the quadratic equation @ eting the square method >x +17 =3x+42

aflsh, AB ™ =BT A" eTeTUmS Fflunisaao

2 | ,verify that AB " = BT 47
~1

(5 15 Wp&Ganamsdss ajemb, Sl USsSHlGT @b Lo fiens of) 6 L6y
b eLpsiTmIcUg) USSHLONGTE  STewidens el AT GODey  eraflsh
@p &I USSHIEZDEN S STe3sT S5,

tenuse of a right triangle is 6 m more than twice o

f the shortest side. If the third side
.X less than the hypotenuse, find the sides of the triangle.

3y=—121000Ib 2y=x+3 HHus CriCan(bser phs;
X+y+2=0 WPOID x—2y—4=0Eu CriGam
Bevenns @b CriGEmL 1965 FLosTUML eor_d; SI16HST .

G yereflenwiyip
Bser Fhdd@n Heirerlepwuyip
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¢ A4 V- =) and
. , . . o ol - arseetion of 3x+y-+2
Find the equation of a straight line joining the point of infe

b - — _12and 2y=x-+3
x—2y—d4 =0 o the point of intersection of Tx—3y=-—12and 2y

3tan0— 00 gor Rorgi i
[ —3tan’0)

3an0—tan' 0

Jtan0—tan =
[—3tan’0

&) ! InlDL] @NQ&] Tn LIT]LD
40. ddaneand Csmaw(@ Tih ureptd 2418 owpapth 2oL gnslg i LOL| “.i o 0
Y ALK e
o anssiL@HNS. Oreiais aig e Hdg el 5L 4115 cravllav 2Idh : LD Jf rrth LIg
) i ' i ot i C of the canvas
The radius of a conical tent is 7m and the height is 24 m. Calculate the

used to make the tent. If the width of the rectangular canvas is 40@ .
. : = ;
41. 52 Fl(ser Qananr SLGGH 1960mb5 PUD FL@ 100 gl ks FLE

: s £ 4 5L D ena S S8,
@nan Sshvevg apnil wsavg Haniy g FLLIS @@(,} (163 BLPDH T
19nof gc

A Jisinﬂ—cns():() 6160fl6h, tan 30 =

If J3sin0—cosd = 0, then show that tan 30 =

A card is drawn from a pack of 52 cards. Find the proba geting a king or a heart or a

red card.
£, 18, 20’ 15’ 1 2’ 25 %@wmm_f[ﬂﬁh LD”LU’U”!:@&: @&@@m’@-

Find the co-efficient of variation of the data 18 20@
U@ﬁ— 1V /PA

(LoFIiGluedsrselT = 16 arks :16)
SLDSETEILD TS S EHEE aﬂmr_wm
2x8=16

Answer the following.
43.91) y=2x" —3x—5-67 euadUL LD mcn@;@smmﬂ uwaTu(RGSE 2x* —4x—6=0 6TaTD
FLoGHTUML L& S EayLb. Q
a) Draw the graph of y =2y — hence solve 2x* —4x—6=0.

%OR) (@)
1 2 4

) = ,@o,.u 0 Lommith x+4=0 - Ui &
¥ It - x+2=0 Lopmib x 2 Bpug.
FLOGTUML 1963 @@gﬂ LwSTLUBEHS Siés.

2

b) Solve the equai 1 + et ,where x+1=0,x+2=0 and
+1 x+2 x+44
x+4= O%ratic formula.

@ R=60°, 248 Rellmhgs PO 4@ euamywiul L m(nd Gamiigesr Benmid
e Qursenn APOR aueps. ReOmigs PO 4@ euewgwiiul L

RG =N~
@ndms&r BeLD H1evs.
.az ConStgict a APQRin which PQ=8cm, |R=60"and the median RGfrom Rto PQis -

cm. Find the length of the altitude from Rto PQ.
(OR) (16v6vgy)
Ganent Qs Lobleut’iq GaHmsHeT DS 67(Lod) Hlmieya.

.\ b) State and prove converse of angle bisector theorem.

—
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Model-4
Lo efewnggmeir 2019~ 2020 / Model |
LSS augli) - X STD
&euuf1gLh - MATHEMATICS
(<yfevtd Lomit giflp / English & Tamil Version)

uestion paper 2019-2020

. : o
ST 6y : 15 Bl to + 3 toawf) Loflino

Time allowed : 15 mins + 3 hrs Mo .f:.' 2
Instructions : (1) Check the question paper for fairness of printing. If there 1s :ﬂ f fairness,

inform the Hall Supervisor immediately. .

. i . . —

(2) Use Blue or Black ink to write and underline and p | to diagrams
DTSN GG T GIGHILIGN,

sifleyeny : (1) Siasg elamndsepn sfuns Sida U o .
sfungégsQanarenajn.  odaiuglaied uflapiadast  2Im;

sasaneniiuneniib oL ag.urds Qs aihsmg
(2) Boulb =ebevgy @Bl eoLOUTIEnET @ GTUPSHIISDSLD 2195
. G6iT TSNS ClaHFley

Cang.(Heausn@Ld LweTL(hss Case
LWIGHTL(H G B@LD.
Note : This question paper contains four parts.
Gl : @ellennSSeT FHN6E UGS GRATL .
UGSl - 1 1
BT HGT ( Marks :14)
&y : (1) @Lnaflafled 2ciren 44 GREGTHBEDHE LD eflaL WerildHayLD.
wnpp L safiey saud Fiflwes

2) Car(RsLuL (heiT Qe
aflenLeoiid Gg,d@g@; GOl BLer e uileaiyd  GCFISH

GT(LPSALD.
Note : (1) Anwer all the | ions 14x1=14
(2) Choosgth ect answer from the given four alternatives and write the option
code an cofresponding answer.
. R= x,x* /x M tpfFi wt d gfhvz fs; emeim 2 paflst afdsaLoeng
@
@ 2357 N (b) 2,3,57,11
(c) 4,9,25,48,12 (d) 1,4,9,25,49,121

®
The ranNhe relation R= x,x* /x is a prime number lessthan 13 is
(a) 5 (b) 2,3,5,7,11
5,49,121 (d) 1,4,9,25,49,121

(
.\Xk_ 1,2,3,4 wppud B= 48910 s [f:A—B s Sy

L4,28,3,9, 410 ereund 6En(hssluL L me)

(a) LevauDMIeS(Bh) SpeITIISHHTEH FITTL (b) FLoeflgFmy
(¢) eHTDSHOIHTGTDITE FIT[jL| (d) 2L &Fmiy
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Let A= 1.2.3.4 and B= 4,8,9,10 . A function f:A— B givenby
f= 14,28 .39 410 isa/an

(a) many —one function (b) identity function
(c) onc - one function (d) into function

. M Sl BEHTLT auflenaulahr 6 vy o minfest 6 LOLGIGD 7 215 Q—IDI@ 7
Lot L0 FL0LD 61650160, 211" (DGO Hm_1 auflenauflah 13 gl 2-IL]
(a) 0 (h) 6 (c)7 (d) 13 \Q
If 6 times of 6™ term of an A.P is equal to 7 times the 7" term, then the IJ”'% AP is
(a) 0 (b) 6 (c)7 (d)

1729 =g usnd sngenfliu@aann Gungy, g LT erats il 21(1) el
Fa (1) 60
(a) 1 (h)2 ()3

The sum of the exponents of the prime factors in the prime fgetc @ of 1729 is
(a) 1 (b) 2 (¢)3 - s 4

. a i b erahiiies @ e apapdoar. G >0, bWessiLig) a - 6 p Hryes
aranfled a Lommin b <ghanpislas 15.6)1r.6)

(4) b (b) (¢)3ab O (d) -;—{
4

If @ and b arc Iwo positive integers where a‘}@l b is a factor of a, then HCF of a and
b i

(a) b (b) th (d) a
b

X =20 =24 1oppin X —kx -6 hidlabr 15.QWie x—6 araflad, k ~abr Lol

(a) 3 (h) 5 (c)6 (d) 8
I x—6 isthe HCF of % 24 and x* —kx—6 then the value of & is
(1) 3 (b) (¢)6 (d) 8
Pty LIGHEVIIDITILIY @l ol apapaisdah arafled et sgesileer
araduoofdeomnanieh Ligf
() PHHDIINIGHI (b) Lyt
I polynonffalis a pcMeet square then its factors will be repeated _ number of times
(1) odd (b) zero (¢) even (d) nonc of the above
() @)1 I IMI.. (d) Grof)aaphsenpuiled eraan Eeensy
L pdiGuneoonn ABC -6 £C=90" toppnd AC = 561, erenfled AB pyemigy
(h) 5 Glrth (¢) 10 @il () 52 Qb

I AABC s an isosceles triangle with ZC=90" and AC = 5cm, then AB is

(1) 2.5 cm (b) 5¢ecm (¢) 10 cm (d) 542 cm
P THSILONGIL] 6t Giflessiinnss Limioild Gauenantiment Bl

() @)y Lidanritacir Beneyor

(b) @y Ludhearinaeir @anevr Lofm @i Ldiathiseir aesnupHnama!

111
N

Kindly send me your answer keys to us - padasalai%%?@ar%%img% SLUL L


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

b - Padcsatal. Net 7 www. TrbTnpsc.com

(c) ThO BT udFhisen @enawt

(d) @S/ LG BhIH@HLD FLOLD

o show
s a trapezium it is

cessary
When proving that a quadrilateral i nc

/ (a) Two side are parallel el
(b) Two sides are parallel and other two sides are non- para £
(c) opposite sides arc parallel
(d) all sides arc of cqual length - su%?d@mb
10. 7x—3y+4=0 161D CridGanLiyn® Qs hiGHH 1% S A
G &CanLigar FLosstun (s B
(a) 7x—=3y+4=0 (b) 3-""7)”*”4-0
(d) 7x—3, 0

() BxTp=0 icular to the line
The cquation of a line passing through the origin and _perpegdicular '
Tx—3y+4=0is

(a) 7x—3y+4=0

(c) 3x+7y=0 (
11. sinf=cosé, eTesfleb 2tan’ @ +sin® 0 —1 @7

2

(@—— w) @)3 (-3
If smﬁ_cosﬂ then 2tan‘9+su1 6 —1is eql

2

(@) -2 OF @ @ -3

LopmuLd 2Ly ksl F(BH6 6T6uTlay

12. (% .m_mang')go 2@@3677’0_9657
15 @b, 2 BeerudesT 2. wyid 20600FL8  eTasiley

14 QFL5 LoHMILD HSET Hiq.
ASDGT 2 (HeuUndst) e B OLFGTeT SaiieTe)

(2) 5600 TKP  (b) 11%1@ (c) 56 b rk P (d) 3600 7b rk P

In a hollow cylinder, the sum e external and internal radii is 14 cm and the width is 4

cm. If its height is “¥he volume of the material in it is
(a) 56007 cnr’ 12007 cnt’ (c) 56 7 ent® (d) 3600 7 e’
13. G)cm@asasuuu_ ! ,, 60 GTSH] HUDITGOISS?
(@ P A> <PA51 () Pop =0 (dPA+P A4 =1
: ' Which 0@1@ is incorrect?
| ® <P A<l ()P ¢ =0 dPA+P I =1

3 (a) P
| 5@“ @S eLOGITIY LD FET(BLD CHFTSMGIUNG) 3 SEVEET JHeOVS) 3 LbE6T

| 1
| % ®7 ©3 @ 3

robablllty of getting 3 heads or 3 tails in tossmg a coin 3 times is

a) 1 1 1

(a) = 3 (b) 0 (c) § (d) >
u@d)- 11/ PART - 11
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(of)iOatsraer : 24) 1 ( Marks : 24) .
10 aflewds@nd @ eflevr_welldias. afleant sreder 28 -di@ HL-LMWLLTS eflentwiarilham|Lh

Answer any 10 questions. Question no. 28 is compulsory. 10 x@ﬂ
SoS(K)=5 oDpid f k =2k — 161600060, k -gpdianadsis.

Find & if fo f(k)=5 where [k =2k-1. 0
A= 123,100 oppid R eretim o may " A-air 10z iy eratiapilag
VUDTWDISSILLL T, R-diasnar LodlILmsmaiL old s 1515

Let A= 1,2,3,--.,100 and R be the relation defined as “ is cubcegf O A. Find the

domain and range of R,

2@ Eloqugide s aflasudsh 20 Gpdmasen LD 30 euiflend HErHLD
Hbs

aciranad. ABSSBHs PaiQanm aflesuigyn =iz pw euflengenws Gl
Buav® Qudosser s (Baouns o drere. auflonauileh a1 ZEnET

Bréa5a6T Q)1h@10?
In a theatre, there are 20 seats in the front row and x were allotted. Each successive

row contains two additional seats than its front roé»« many seats are there in the last

row?

1 i . - . . . .
%,—5,1,—2,-" 61681 OB 5SS C\HTLIT 6y @m 106Ug) 2 ILIGHUSHHTEESTS.
I 1
InaGP —,—=,1,-2,-.. , find oo
4 2
x* 4+ 6x48 . : : . 3 ;
——— -BhS 1S &) Canevauenid FHPGHTH ————— 6T
x +8 x*—2x+4
GCaneney SlenL & @L?
Which rational expressionﬁ subtracted from w to get —2—3—- .
x 48 x"—2x+4
®
@GUEJ&EGTHG&T&_@Q;G:\ b OumssehusvatT @p@m@m—% womib -1
GTGUT & 0)HTEUSTL LILQEFLOGSTUML DL & HITEENTS.

@
Determine the%ratic equation, whose sum and product of roots are _3 and —1.
2
Mé@ﬂdﬁ@@é@é TSI
State P@r s theorem.

O\' UL UL g4)6b, DE || AC woppid DC|| APeresfisy 2E — BC

) EC = cp T Bomys.

Il E c P
In the figure DE|| AC and DC|| AP. Prove that HE e BC

CP’
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P —1.53.0 6,—2 ,R =34 <l yarafleir Gy Gami L eLoaeH G181 11 ().

Show that the points 2 —1:5,3 , @ 6,—2 ,R 3,4 arc collincar.

cot A—cosd  coseeAd —1

= G161 [hlemt N,
cot A4cosA  cosecd -1

Dyoe it cot4—cosAd  cos ecAd —1
col 44-cosA  cosecd 41
L} J .
. FLD SYIhIs6T QsnanL. @) g LbLsafler &6 Slena|dern 3600 QL 5040

Q=L sTerfley iaumniletr o wniiseflar alflsL HTeuTs.

The volumes of two cones of same base radius are 3600 em® and 504Qcm”. Mnd  the  ratio
of their heights. -
o srefer efda 13.67 wpmpid WaLEUw i afled, OGS Es

SIIDUS: SIS,
The range of a set of data is 13.67 and the largest valuc i Find the smallest value,

. @ SUUIIGTET 1 (LPSGED 6 QUGN GTEUTSHET G FRYLIL L ungIseMedl(mhe  Be®
UbSISeT T(HLILSNSTET  FamiGleveflanis Lo ULl epeulons  GOIIB .
(LBesar(HLb HHLOL Meud@GLD (LPEHM)

Write the sample space for selecting two ba@; alls from a bag containing 6 balls
numbered 1 to 6 using tree diagram. (with repl t)
8x* —25=0 er601m @)(HUIQFFLOGHTLITE kIsafeT gn(h&eb LoHmIb GlUmSHSN
UGUSHT SHITGHITS.
Find the sum and product of the rog @nion 8x* —25=0.
u [ PART -1II

(LoNIGILs :50) / ( Marks : 50)
10 elew1745(E54E aflen lGTT G168 42 -&(& S LMULDTS aflenL wefldEa)lo
Answer any 10 questi tion no. 42 is compulsory. 10x 5=150

. SUBEGD 2 6Tern ) Ouassailsr (psitentiensseflesr Hemd oD
IS 6T ©) o WITHISETIET SHEUCHET QULPHEIGLILL (RETENE. b
afleuriusaies g UL ufleh sp(h LomeueTeu 2 WTLD (y) (LGNTEUEINS BETLD (X) ~&ITe
2 MEn6Y y%j a1 g Havar (PSS, @i a, b 2Abwemar Lormledser.

STeREIEN S S5ETIGT BerTLD x 2wty
(O&LH-6v) (1@ Se0)
35 . 56

@ 45 65

\ ' 50 69.5
55 74

() @b 2 Meunes FAFUTEHLOT GTGH 4TI,
(i) awHpid b ASeDEDI: FHT6ETS
(ii))  pareumienaudest Hemid 40 OF.L5 eTestleb, SibgL1 Cluetesilelr 2 wWISMmSS: HTeETS.

(iv) 2.wgLb 53.3 SAMIGELD 6Tesfled, SibsLl Gluatmenilar (peiravmienasuies Bendandd
HI16L8TS.
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The data in lh(‘: adjacent table depicts the length of a woman's forchand and her
corrclsp(;‘m_lmg height. Based on this data, a student finds a relationship between the height(y)
and the forchand length (x) as Y=ax+b, where a, b are constants.

Length x of forehand Height ‘y’

(in cm) (in inches) @
35 56
45 65

50 69.5 0

55 74 &

() Check if this relation is a function ' 0

(i) Findaand b.

(i) Find the height of a woman whose forchand length is 40 &yr.
(iv) Find the length of forehand of a woman if her height 15°5335pches

30. [+ =59 =R eT6tTD Fmuneng) (NesaimLong) o 1GSOILBEDS).
6x+1 if —5<x<2 erafled
f_t = sz—l if 2Sx<6 GTGUHGIJ O

3x—4 if 6<x<9 eafle 0

D f7—-f1 wdgd (i) %eﬂwmfbmmaﬁanmm

A function f: —5,9 — IR is defined
6x+1 if -5<x<2 %

[ x=152=1 if 2<%
3x—4 if 6<

Find () £ 7 =/ 1 2/ 26

N fé+f 2
31 5+55+555+---wm_d6udimm%ﬁr WpgeL n 2 PIOLsEedr Ja.(DBH6 H1essra.
Find the sum tc?ﬁn:,s of the serics 54554555+

g ey sGangfluiss anuemzts Guneh @mLoLriig @ to.

2l ) s@pd@GUTe @  awgseflsr  Quupdanueet 375 erasflab,
iy SDCUTENGIL QUUIGHSE; TTCUST.

as old as her sister. Five years hence, the product of their ages (in years) will
their present ages.

15 ¥ 2 -2 8 5x)_, x*4+8 24 o T
. X = 6TG0 5 - : .
3 'y i D ' & D Iefld FLoGTLniqed x - 61 Ly fuwomm

Lo IGDLId: HTa80T .

Find the non-zero values of x satisfying the matrix equation
2x 2 8 5 o

. x +2 x _ql* +8 24 '
3 x 4 4x 10 6x
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35

[
=9

Ly
~

38.

39.

. PORS GI651LI851 6p(ihy FF1TU1 FGHITLD. 21T meevrﬂf_r_mran

9B Qs@ald @ sULLh 9@ Howud THps "h
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. s et w1 Qusrren®l a1asflst
v —12x 370 by A-a eredtgl Un APUR oLl LIGUBYIMILIL[ (GenlT @016V,

a LopWILD b -Gd1 Lo IGHLId, 11638, sk
‘ cet square,
Find the values of @ and b if the polynomial 4x" — 125" 37 b +-a i @ per |

- LoD A L ggiasn (B Caupmaiend e1apd) (BmIaH-

State and prove alternate segment theorem. . ,
Gir PR 1oMmILD QS Al et

Qe Bid yerall M aaaip OS = 2PR eiav@jin 2Tl S LommILD | W /1)1

wyereflser wpemGu (1, 1) wppib  2,—1 craufley, P-Go7 cwué 1| TG 3,
BTG,

PORS is a rhombus. Its diagonals PR and QS interseet at the point M a
If the coordinates of S and Mare (1, 1) and 2,—1 respectively, fir

satisfy OS = 2PR.
¢ coordinates of P,

Hanauled 35 1
) Henev 2. &Flullsh
ewiLn 34° erasileb, Flenevudlssr

B Clauafluflsh  ieviofigierencr. LSS 2 ."

TOSGaHred 24° Lopmitd Havev 2iguilstt Gpd
2wyt eTeiren? [tan24° =0.4452, tan 34° =0.6 5]

A building and a statue are in opposite side of a 1 m cach other 35 m apart. From a
point on the roof of building the angle of clevatidig offhe top of statue is 24° and the angle
of depression of base of the statue is 34°. Fil@lelght of the statue.

tan 24° = 0.4452, tan 34° = 0.6745]

DLW I 2 (HMET Qe curnemufey
anr6h sampuiey QL LUl (B Fa bl GUIQeI6)
o0 owmtb 24 Q&S eTedfleh, HGT <HU[LD,

32 Q& swgeptd 18 GF.LS,
LP(LOEOLDWIMTE  LOGWIGY D GITGTS).
AMNDSSHUIL(DEDSHI. AHbDSH
FMYWISHDS: HT680TS.

A cylinderical bucket, igh and with radius of base 18 cm, is filled with sand
completely. This buckelwon the ground and a conical heap of sand is formed. If the

cm, find the radius and slant height of the heap.

®
2 GBLougdled

LILPHISFGITIGHT GRe DSBS SGLp C)m(H&HLIUL (HeTerment.
ClasmiiugT LLOMGIIT | 5 6 |4 |3 5 4
6T HeN
2417 I GITIGHT
\ W 1 3 7 9 2 6 2

M uLptb Egns 2 1 ClEmeTeniu L g)?
TN umption of number of guava and orange by a family on a particular week are given
below. ‘

Number of Guavas | 3 5 6 4 3 5
Number of oranges | 1 3 7 9 2 6 2
Which fruit is consistently consumed by the family?

116

Kindly send me your answer keys to us - padasalai%%?@ar%glwlth SLUL L


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

40. 50 LoNeWIQITEHET o glrey

. (I UGN DaD, . _ " 30 " - e
odmid 18 Gui PG aguded, 28 Guir NCC-ufspitd 30 Guiy NSS - udgyd

NCC oppip NSS-uflsyid Gargflpmiasir.sp@p tonassiayy gio euminiy

pemuisy Gg,ﬁ';ﬁ@g,@&emu@aﬁ?mnd. DI}
() NCC-6b Qs <4&M6Y, NSS-

Wiy &0 @abevriiosh B
(u) NSS -6b @b, yemneh NCC-at Babevritosh Bmds @
(i) Bouiisieh e1Ggepit gaingfety LB @liugpsnes @dﬁd}g}&mldﬁ'&n :
\J

&%
Ina cle nts
class of 50 students, 28 0 ad

NSS. O 5 opted for NCC, 30 opted for NSS and 18 opted .
: - One of the students is selected at random. Find the probability tha&
i

the selected student opted for NCC but not NSS
(i1)  the selected student opted for NSS but not NCC 0

(iii) the selected student opted for exactly one of them.
1. Fmiefleants LweTu@sH 1, —4 , 2,=3  hmib 4, U yeireflser &b
Qs tiGanen wosGanemsdaney 2 (HAUNSHGLD 6160 (6]

By using slopes, show that the points 1,—4 ,2,—-3 and 4,27 form a right angled
triangle. \
2. 9@ BUF 10 Sem@aafsd 716500 g Gg@a‘s@ DO TG Siauf

G&Lﬁ)d;.@f_b Csneswneng SisHE wimsw g F LG @LD O\BmensawaiL 3100
2PlaLb c1aleh, Hieurr wpgeh et (D eralicuae @ BlgENmLium?

A. mfln saved X 16,500 in ten years. In caliwdeaMafter the first he saved %100 more than he
did in the preceding year. How much didc:l) he first year?

u@gﬂ@‘ART STV
(LogGluedasaf: 16) / ( Marks :16)

BLDSETGRILD NGTIIT S (G waerflgsayLb.
Answer the following., 2x8=16

43.91) y=2x> -6ir afsmguﬁ_'o\ &l AL uwUBGH 23 —x— 6= . eTeND

FLOGTUML GO & S D
a) Draw the graph of y v* and hence solve 2x* —x—6=0.

(OR) (r6bevgy)
2) FBEGE :Qx ?_a12 —3a-2 - 3(132 —1la—4
N 2a°+9a+4 a -2a+4
m%x 2a*—=3a—2 , 3a’—1la—4
-8 2a°+9%a+4 o' —-2a+4
42 PQ = 68675, Gogub 2df4Canemmd 50° wppId 2 FHECamenddar

Bmaaul quneig Snqliussgams PD = 52 QF. 15 etewr D -6b Fhbld@Lon gy
SHAmowftd APQR -£2 euanjd .

b) Sinthlj

a) Draw APQR such that PQ = 6.8cm,vertical angle is 50° and the bisector of the vertical
angle meets the base at D, where PD = 5.2cm.
(OR) (v6beug)
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h 1 '} .od'
9@ 1 Hi T ! h LUJJGl (.,)

GlrebaiLh eTawd; H1L (B

i i
b) Show that the angle biscctor ol a trinngle arc concurre! U e
/ hoo\ YouTub

' ahi high S
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Model-5

LoTSIN efewrrd; e e
$lf SIMSSTGT 2019- 2020 / Model question paper 2019-2020

USSTLD u@liny - X STD
&600fl& 10 - MATHEMATICS

‘ (rirfleurp LoMmiLh &8Lp / English & Tamil Version)
ST HeMeY : 15 B 1D + 3 1neped)
Time allowed : 15 mins + 3 hrs

Instructions

wAGussTH6T 100
Maximum Marks :100

() pheck the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

2iflayeny : (1) AHOGSE| eindasend Ffuns SidaL udleund) o

rsrlﬁum,'fgg,jat@anehmmm. Sdsiuballer @
SEVTSTEAIILTET b © 1 cwmiguwines Czfledss

(2) Bovib  sicbevsy Sy eioufever Lol ASDGLD g
Camig (Heusn@ib LweTu(BHSs Gouetsr(HLb. UL QUMNTAIFNE Ol
LGSTU(H S EaLD. %

Note : This question paper contains four parts. O
GOy : BelelleTsseT mTeTE ug@&mm&!ﬁ%&m_g.
U -1/ PMI
(oS IGILIGETHGIT 1®Marks :14)
Goloy : (1) @udflaleh 2 6irer 14 &l @B&@LD el weflssaLD.

(2) Qsn(hsHIUL (HeiT G wihn foLsefls) Wsed Fhuner
L emiwtd G b5 GOUTC(BLer  afleoLulamenuyn  Gsidsy

GT(LPSALD. %
Note : (1) Anwer all the 14 questions 14x1=14
(2) Choose theNgorTegt arswer from the given four alternatives and write the option
codean esponding answer.

1. f x = x+l® BlIn(HLb FAFLIMGSTSH

(a) Grfw #ngy ¥ (b) 2@ se& st (©) geovadipg iy (d) Quuigd Fniy

fx= YN\ represents a function which is
()% @ (b) cubic ' (c) reciprocal (d) quadratic
2. u & aEsss SaISGIHNSDSL uweTuBSS), s levs wpepallsir

FTGESULLD LLGTU(BSE) 92 AGSELD CUIE SlLSGLD LBE)s 6T

(a)0,1,8 (b)1,4,8 ()0,1,3 (d)1,3,5

Usin;; I’Euclid’s division lemma, if the cube of any positive integer is divided by 9 then the
ible remainders are

?;)S;] 16; (b) 1,4, 8 (¢)0,1,3 d)1,3,5 y

iy ‘ ' YLIEGCT 2 GG, SIS 16-6ugy 2 iy m erautley,
} . aflengulieh 31 2 nIUy&eT .‘D_GY.TGTTGUT ' : /
* :;gﬁg’iinég @g,)m_ ik auflanaullch 2_GITar 6T6V6VIT 2 MILIYSTIGT Fa (HSH6V
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31

(d) -—Z—'fﬂ

(c)31m
all the terms of this AP is

(a) 16m (b) 62m
H » . n Of
An AP consists of 31 terms. Il its 16™ term is m, then the sur
(d) —m
(a) 16m (b) 62m (c)31m 2
4 =3, 7; GIGHILIZ]
¥ »? ]
9 9y’ oy —azyaal ) T
(a) 22~ (b) —2— (c) 3 y
7 21y—21 Yy @

'y T 3y?
o) 9y o2 42y+ \b
@5 ()21y—-21

5. ¥ —25=0 -6 SFeureng/
(2) QuouiQweter Sjayaser Bevaney b) & g Wit SiayEeiT
(¢) FLoLomm Qo iGwess Siayser (d) 59& eymel
The solution of x> —25=0is
and equal roots

(a) no real roots -
(c) real and unequal roots aginary roots
" er6trm Swewtludest auiflens

1 3 5 y .
6. A ={2 . 6} eTaILD G (H &% 6@ A
(a) 2x3 (b) 3x% (c) 3x4 (d) 4x3
T,
For the given matrix 4 = J the order of the matrix A" ~ is
(a) 2x3 2 (c) 3x4 (d) 4x3
7. @ augbleyrg nestiser AABC opmith APOR Slweunmlett & ppemayseir
wpepGu 36 DmiLh 24 Q.15 @b, PQ = 10 Q.15 cTesfled AB-6br Bemib

(a) 633 : (®) I—Oiﬁarm" ©) 66%@&.&5’ (d) 15 Qa8

ers of two sumlar triangles A4BC and APQR are 36 cm and 24 cm respectively

b
®
If%l 0 ¢m, then the length of AB is

(a) 6% cm (b) 1()\/_cm (c) 66§cm (d) 15 cm
8. (5,7), (3,p) LommiLd (6,6) eTetTLIGT P(h CETL L LOBSE®E 6Tawfleh p -65T Loy
(2)3 (b) 6 ()9 (d) 12
If (5,7), (3,p) and (6,6) are collinear, then the value of p is
(a)3 ()6 ©9 (d) 12
120
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0. A6, 1), B(8,2), C(9,4) LopmID D(p, 3) e16h1L
dBSBIFHOBTM I L 1pepeys,

aY =7

If the points A(G6, 1), B(8,2), ¢ 9,4) and D( p, 3) arc the vertices of a para
order then the value of p is

(a) —7 (b) 7

&It a1exfled, p -a81 Loy

(©) 6 d) —0
10.

(a) @ = b (b) b —g? ©) o +5° @ b-

a1 s, DavasmsngHast anflens Sgrouoit

llelogram, taken in

acot@+bcosec = p Lopmip beot0+acosecd) = g rasfled p* —q -67 Loy

a
If acot@+bcosecl = p and beot@+acosecl =g, then p*—q* is cqu%@

(a) @’ b’ (b) b —g? ©) @ +b* (d) b
11. S0 GIILLID whpid o wiyd e w P 2 (B, 5 @w@@ﬂb 26

Ganenid Hweumnlesr B 246 656168 aNESLD

@

(a) 1:2:3 (b) 2:1:3 (c) 1:3:2 Q&l
The ratio of the volumes of a cylinder, a cone and a sph e@c has the same diameter

and same height is

(a) 1:2:3 (b) 2:1:3 (c) 1:3:2 (d) 3:1:2
12. Ganengdletr yniugiunes Fioonengy \
(2) GamengSlesr QLongaiiLigriy (b) s1enSSles CLonSSLULTLIL)

(c) 2emp8GsnengSetr ypliugiiy ( mleb eTgLOGLE6V
C.S.A of solid sphere is equal to
T

(a) T.S.A of solid sphere ql .S.A of hemisphere
(c) C.S.A of hemisphere d) none of these

13. (Lp&6L 20 Bi6L Te8TT S TIaH SSCITSEF FNFif]
(a) 32.25 (b) 44 (c) 33.25 (d) 30
Variance of first 20 nafra ers is
(a) 32.25 g (c)33.25 (d) 30

14. 196dT6UBGUGTID DS HEUMITEEIS)?
@P(A)>] AaNDOSPALT ©@PG=0  (@DPA+PA=1
Which of wing is incorrect? 8 {55 %
(a)P‘A\\\ Mo<P A<l ©P¢=0 . (WPA+PA=1

6A
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L)~ 11/ PART - I

. . Tarks : 24)
(oI@Ledsreeir : 24) 1 (Mar dgan
_ o eenl_UIGTISaa] LD
10 efendisandi@ el walldas. aflem erar 28 -di@ ST 10x2=129

Answer any 10 questions. Question no. 28 is compulsory: B oengl [ x = ee
15. A= 132~ 3~4 U)ﬂ‘)mim 1} =NGTG{HC'ID. GLD@HD /: /1 N D

eSS ILGEDS e1afled ,

() [ -6 aTdFsHad: H16UTS (i) ar@@
Let A= 1,2,3,4 and B=N.Let f:4— Bbe defined by f x =X
(i) the range of f (ii) identify the type of funct

L 2 T . 1 G GTGGﬂGb k -G'ilﬂ
16. 3+k, 18—Fk, 5k+41 cratrie (@ gl HHCIGTLY auiflans Hﬂ@é%’”

Lo Heverss.
If 34k, 18—k, 5k +1 arc in A.P, then find k.

17. @@ QU@ QsTLi euflendullar (LHS6 2 QL 6 7
r =6 ecrarfled QUmd:@S O faufloFemwd 5 ar@ . ’
Find the geometric progression whose first te —Swfnd common ratio 7 =0.

144 8212 16 . . . .
15, Mdabc o o bauneo SIS,

8 1fl2g4hl4
144a%p"c'® O

Find the square root of W 0

\enaid FITTL| 61601 SHITG00T%h
2, find

LommiLh Ul elEsin

19. 21,18,15,--- e1681m &L (H50)5 wFulley —81 cTdgmanumeaudg 2 UL ? GLogyin
D ds ' HSCsTLT  6urfl ) 0 oF o pUUTGLT GTGTLMS  HTTGISSILEH
AN &GS

Which term of the 4%18,15,--- is —81 ? State with reason is there any term O in this

A.P?
20. R e1681D 2% i@ ) | y=x+3,x€ 0,1,2,3,4,5 erend Q&r(beal ul(pereng.
Baliaymad] TNEID LoDMYLD GIFFBHLD HTGHTS.
A relati isiven by the set x,y /y=x+3,x€ 0,1,2,3,4,5 . Determine its domain

and
Q 9 . . 73 8 . A Tl
21.& DS Lommytp B = 1 0 eTesflev 3A—9B —6b1 Lo IL|SFHTEE8TS.
®
N0 40 7 3 8
If A= and B = , find the value of 34—9B.
8 3 7 1 4 9
22. UL&HeD, AD etettiigy OA -6t1 @mFbleuL’q. BD = 4 Q.16 (il

DC=13 Q&.L6 Lommitb AB= 6 Q.6 e16vfleh AC -GiT Lol iemUS; HTeseTS.

In the adjacent Figure, AD is the bisector of A .If BD =4 cm,

DC =3cm and AB= 6 cm. Find AC. B em D3em
23, x—2y+3=0 Loppb 6x+3y+8=0 %S B CriaCa1(hs@pD eTmIStSTaIDI

OV hIGSSTeoIan6 61655 HTL (h%. :

Show that the straight lines x—2y+4-3 =0 and 6x+3y+48=0 are perpendicular.

:‘S
)

¢
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28.

29.

30.

31.
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secl —tan @ _
sccl+tanf  cosp O
Show that Jm _
secl +tan @

l—sing@
1 [Dpreys.

l—sing

cosf

25. 45 Qall 2 wrapeiren gy R dacdi ghesr @ yn yrhiser apwpBur 28 Qr.if

Db 7 G5 erexfled, QLS a1 ghetr mart Hranenalds G163,

If the radii of the circular ends of g frustum which is 45cm high are 28¢cm and 7cm, find the
volume of the frustum.

Qe1(B$SIUL L uTauelssr ofd & BTG .
auwg! (eupL Aiserflel) 16-18

18-20

LOTENTAUT 6Tenfldana 0

4

Find the range of the following distribution.

Age (in years)

16-18

18-20

20-22

Number of students

0

4

6

- ePSITD) FTTST BTERNLIRISET LpDITE Gy Crrg

(i) e@DBSULFLD (1 1y Havi_diss LoHmILD

(i) 2b)sUL F1D (5 Ho0ev HevL 55 @5@@5&@5’5 SHITGEST .
Three fair coins are tossed together. Find the r@ bility of getting
(1) atleast one tail ost one head

p+ B—V2 x—1=0 e1ews @
616357l6D, p —&¥1 Lo SrTeENas. 6
+\/— V2 x—1=0 and x=

DU L. FLOGTUMLIQGHT §(h eLPGULD x=%

Find the value of p , is one root of the

?E

equation.
\ - II1/ PART -III
LrG)usb'msm 50) / (Marks : 50)
10 e w:m_zuaﬁ&&. aflewrT GT6¥sT 42 -4 SLLMULOTS el weldasajLb

stions. Question no. 42 is compulsory. "10x5=50

,B= xeN/1<x<4 wopmib C= 3,5 erevfled
Ax B AXB N AxC 6T@ILD FLOGTUML L& FIfILINT&d%.

Let A= xeW/x<2 ,B= xeN/1<x<4 and C= 3,5 verify that
Ax BNC = AxB N AxC . '

Answer an q
A= @ 2
®

f x =2x+3,g x =1-2x womibh x =3x,fo goh = fog oh e1a¥ KleEN5s .
If f x =2x+43, g x =1—2x and h x =3x, provethat fo goh = fog oh.

QU &mer Gupm T 65000 sLewen SHpLlF CFewds wpHe) LoSd T400
CFISHISIDTIT. 56T 1IDG PaUCIUT(H LOTSUPLD LPBHESIL LoTSHLD ClFepSSHiiens aflL
2300 Ja(BSVUTEEF QFQIGHISDTT. Heuf Qhsd ST ML 5 GTOURIGTGY &HTEULD
Caanauliu(hLo? :
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36.

37.

38.

39.
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first month and then increasing the

400 in the ,
o clear the loan?

A man repays a loan of 265,000 by paying 4 .
ke for himt

payment by 300 every month. Iow long will itta
o (DB6V @ara s 107 4114127+ }=200

Find the sum of 10" 411" 412 420 |
9, x—2y+3z=106 sr681m LDl

Lo flsailay 2ILoghg

x4y+z=5, 2v—y+z= 2
PhiaenL Gprfleh Fiosiunt (b9 Q1@ LITNeT Fa| sG55
Solve the system of linear equations in three variables :
x+y+z=5,2x—y+z=9, x—2y+3z=10 @ P »
Bk A ; 24BN DDIGS
On' £ 12¢" £ 28¢ +ax+b TeiILgl PG P AITFID el © cuin)
Lo SDET > BTGNS,
If Ox* 41217 4283 +-ax+b isa perfect square, find tthf db.
1 -1 .
A=l,) 3 ]cnarﬂab, A —44451,=0 676'67[_875[51_9&&.0
S s O

If A= 5 . show that 4> —44+51,=0,
Ganent @eoblail iy CHDDSMS 6T oL
State and prove Angle Bisector theorem.

4, -2, 3k, 3 -2 LommiLd AEWIDD @mm&ssﬂna&% G\FmesL

b, k -6b7 LoMLIL| SHTGBIT .

BINSISSIGT LLiL] 28 &F. 46V _
Adrilateral is 28 sq.units, whose vertices are

Find the value ofk , if the area
_4: -2 ) _3’ks 3: -

B\p SIS HeUEIS Nersasdler @@ USSHSTIQILD FL_e0led LIIGSTLD

QFuilssTmae. BE coseflel(Bhdl HEUHIE]T Sendssbler o dfullest  TgDDS
GHMeBISHET 30° whmid 45° HGD HUEKED] i R )
200 L5 eT6alet ; %L@W&Wm@gn@mﬂ)@é&ﬂs&uﬁs(ﬁ:1.732)

ouse. The angle of elevation of the

g'n the sea on either sides of a lighth

Two ship?
lidhthouse as observed from the ships are 30° and 45° respectively. If the

top OfQK
lig o 200 m high, find the distance between the two ships. (V3 =1.732)
6

<yt pmd 15 L8 2.wgb QeI I 2 (BE6T GUIQEULI X m)
FLo0s  UeHiddath 2GTENE. b LG Fa OGS, FalDl LODHDILD
g&@&mentd B)enessibS angaugdled Bputiu®EnS). FaLofes 2wy 9 (AEAT]
onmid 2gth 3 CF.L5 erafled, LS ETEHe oeen Ualdsenlp BT TSHeaus

Fa_LDLEGT GEHe6Y?
A right circular cylindrical container of base radius 6 cm and height 15 cm is full of ice

cream. The ice cream is to be filled in cones of height 9 cm and base radius 3 cm, having a
hemispherical cap. Find the number of cones needed to empty the container.
318 e Lqpid 1415 puperen @b Sevwinl 2 (Ber augaied Geul L Lu(pEDS.
et Qe @ Curg Gsnamgbu®SEiurL Lo 45 seuUpeITeT QUL L
angauons Egns ugtuiulC (B @@ Gl SHGLOESLILLLITE <ipGLoamr_uflest
2 WSS HT65%.
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A well of diameter 3m is ¢y
around it in the shape of
of the embankment,

& 14m deep. The carth taken out of it has been spread evenly  all
a circular ring of width 4m to form an embankment. Find the height

o m?mmdﬁm 100 B grpgeny s de (D551 QBIGHIL ST SNGTa)HET
#0ué O3 @it aironan. 2imnletr H’ L eflevdisLd H1GE5E.

O ETEO o
GmLb (G’mmnmﬁmﬂsﬁ) 8.5-9.5 95-10.5 |105-11.5[11.5-125|125-13.5
LOMTGRIGU T 616ty
qEuENELY 6 8 17 10

The time taken by 50 students to complete a 100 meter race arc give
standard deviation.

Time taken
(Seconds) 85-95195-105| 105-11.5

Number of
students 6 8 17 9

52 £ (B 6T Qe £ (D6 s gl mbs 9@ FL saULBESTDE. b £L-(B
Qoneniluns Seeg @LLaL g 55@01,)%56 LLLNE Q55 5apssmand:
HTGHT .

A card is drawn from a pack of 52 cards. Fj robability of getting a Queen or a
diamond or a black card.

125
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U&S)- 1V / PART -1V
(Lol rGCluedsTs6ir : 16) / ( Marks :16)

SDESTERLD TS HEBHS aflenL_wedsayLb.

Answer the following.

=)

a)

)

b)

=)

(=)

(b)

2x8=1¢
Y=xT+3x42 -6 QUENTULLD QU igenaul LGTU(BGE x* +2x +1=(
GTSN D FLOGTUML L& Hids.

Draw the graph of y=x*+3x+2 and use it to solve x* 4-2x -1 =®

(OR) (21606vg)) Q

20 CsTLy asme @I L ENUET Y ) N T3] Y
Cs7Li euasmquisr Geustd 10 &L/ LoswsT) SMGBLIUL LT 2 Logwsd)
Cr1sdne wpsirensisGey GO L srrden Lutb. oppid CpmLiy
ussquilsit Gaustd 10 H.ib/ioenfl @eomaiat: v 3 el CrrsdnG nes,
SSGUIII L grySens SR AN ) b OSILI euatiig L kg
TSNS He015:E)(Hs. \'

A train covered a certain distance at a speed. If the train would have been
10km/ hr faster it would have taken 2 &s than the scheduled time and if the train
were slower by 10 km/hr, it woul aken 3 hour more than the scheduled time.
Find the distance covered by the%

OR=506l%.16, /P=30° L@m P u9eSmbsy OR-5@& euadquwliuL L
GSSISCHML 1965 Berid 4.@@ Clsesa. APOR auanys.

Construct a triangle such that OR =5cm, /P=30° and the altitude from P
to OR is of length :
®

N (OR) (r6bevgy)

6 L6 LoDm 2 wpepeiten Qe Cehigssnear srawser AC TG

SHJUINGHT \ GLoav UL &&leh snliquereneung H

BB W eren gy sraley, y-eir LOHNILY SHTeverss. £

Tao ical poles of heights 6 m and 3 m are erected above a © QR

'& zontal ground AC. Find the value of y. v £
B c
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Lol eewndgmeir 2019~ 2020 / Model question paper 2019-2020

—

Ui eugtiy - X STD
&euuflgLh - MATHEMATICS
(<hiflouid Loppitd gidlip / English & Tamil Version)

Setd o) & 15 Mifid + 3 1pewh) d) Gt 100
Time allowed :

15 mins + 3 s Maximum Marks :100

Instructions

leyer ¢

Note : This question paper contains four parts.

@y :

@y :

Note :

L. g=

@ LopD

(a) <

)

(1) Check the question paper for fairness of printing. If there is any lagkof fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to agrams.

(1) g alemdaennd sfuns odal uband BT GTHILIGDD
FiflunidgidQanerenayn.  odaiiudaley LT Sins
SerGneiunenfiib o 1ewiguins @g)fﬂm")er.a;

(2) heutd DIV (LY LOUSeHET UpFHIAIBDHEHLD 2194
CamqHausn@td uweiu(®ds Gouss ,Grr QJGSJUGUQ)!D@ Glusirlsb
LwIGTL(HdFa LD,

Qe dgnair pnett@ u@Hsmen nca'zm_ Gl
u@s -1/ @l -1

(m&ﬂ@udm&;@/ ( Marks :14)
(1) @uiflefleb 2 cirer 14 dilengFs@pd@Ld allevL wefldsa)Lb.

(2) @asn@é;exﬂuﬁ@drc%rm@ rpp e sefledy Wlaseyd Frilwmes
AewLews | Caiie®hsm @i Grer elomLwioanuyd GCsFiss
GT(LPSHRLD.

(1) Anwer adl ll%ucslions 14x1=14
2 Cho%\rr answer from the given four alternatives and write the option

cgde ahg th corresponding answer.,

\5 4,7 et Fnfuneng) ¢ X =ax+0 eren Gsn(RSsUulLmed
1?8 7 ol seir

() 2,—1 ) —1,-2 (d 1,2

If g \ , 23,35, 4 7 isa function given by g X =ax+0 then the values of «

and @ are
@ —12 (b) 2,—1 (© —1,-2 (d) Al,2
2. Qe st (Herar ULLD GUIG@GL FIL, R0
(a) GLosb ity (b) Lompled) Frryyy
(¢) PATDISS PHIDIET FIJL| (d) FnLy S16bev
The given diagram represents
(a) an onto function (b) a constant function
(c) an one-one function (d) not a function
127
‘\ P N

Kindly send me your answer keys to us - padasalai%%?@ar%glwlth SLUL L


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net WWW.Tranpsc.com

30 A=2"1oppnd B=2% 42 429 ... 2 6163fld (Na1@IDITIDIDBID 6151 2-6HsT5mL07
B ez A-gafl 2 oflah  (b) A wppith B g1otd

p. () B ez A-gpai | oifatb () A yang) B-ggoi | 2idlsin
If A=2%and B=2%4-2%4.27 4.....1.2"then which of the following is true?
(@) Bis 2* more than A (b) Aand Bare cqual
(c) Bis larger than Aby ) (d) Ais larger than B by I

] . S l’
4 ab,cardiuer o gt O Qunj anflesufleh 2 cirona erafla, —— =

b

(3)3 ) — . f.
; (- © $@

If a,b,care in A.P then Z_b is equal to &
—-c
a
@~ QK (2 0‘ (1
IS

5. SPESETLun e 678 y* + s -G & msv?
)

(@) y4_2H (b) y+l] \“_ +2 d [ +l]2“2
5 5 @ ) |y 5

l
¥ +-y—, 1s not equal to

+1 ’ i
@ L (c)[ —l] [ 1
y +2 d) |y+—] -2
5 p (d |» 5
1 3 5 7
6. 2X +[5 7 GTaBH6D, X 61601 Hewflenids HTessres.
— 1 2
@) :
\é ©) '2 2 &7 lz 2‘
\atnxX if 2X+ = '
9 s
—2 2 2 2
( } 2 1
’% 2 -l o 12 —J 2 2] @ !2 2
xt -2 \ x+5 .
7. _—y GTGITLIGNS xz—_—g—cggm) WGSGLOCUNS) SlevL L1ugy
(@) x—5 x-=3 (b) x=5 x+3 () x+5 x-3 (d) x+5 x+3
st =28 5
On dividing =—%2 b Lhuel
Ing 253 y e 1s equal to

(@ x—=5 x-3 ®) x=5 x4+3  (¢) x+5 x=3 (d) x+5 x+3

8. AABC -eb AD yeng) LBAC st @peiobleu
9. AB=8G\15, BD = L
DC=306l#15, e1a0fleh LGastd AC -6t Bemtd 6GlFLS Lommitd
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(a) 6 Qub (b)4Qaaf ()3 Qw.af (d) 8 Oxuah

Ina AABC, AD is the biscctor of ZBAC. If AR — 8em, BD = 6emand DC =3 cm, the
length of the side AC is

(a) 6cm (b) 4 em (c) 3 em (d) 8 em
CanBssiuCBeen uddled PR=26br ),k =24br U,

|PAQ=90", PA=6br U omypid 04=8br U srasfled |POR gpé anatsia.
(a) 80° (b) 85° (c) 75° (d) 90°
Ina given figure PR=26cm, QR =24cm, |PAQ = 90"

PA=06cmand QA4 =8cm. Find |[’QR ‘
(a) 80° (b) 85 (c) 75° &0
Ganl (s gia@mn® PQ-a anmiiey —\% arafled PO —3@0@3 1ahanast  BFn

Qo iquilshr gmiiay O
(a) 3 (b) -3 (c) L A (@ 0
\/5 ‘

a— o . :

If slope of the line Qs -\-]? then slope of the pllculur bisector o 22 is

(a) V3 (b) -3 N d) 0
) :E (

Bipedlebr BandHldetn o ciran oDt 311
1 1GOBT <21GT G GO1 )

B pyhBlebr 2 wird i
aranflah, il sanantd, sigsyin iyl

(a) 45" (h) 3Q’ (c) 90" (d) 60"
If the ratio of the Ilcighl%vcr andl the Tength ol its shadow is /311, then the angle of
' (

¢) N’ (d) 60"

clevation of the sun |1ﬂ\(
(n) 45" Q ) '
12, 26T g1t an spy Gataniinhyt L. phann Q) vy AUBBEI IApSIIGT §

14,

gin( B.y,um?’@vmm bl @Dt 6reolad, 1ty GradiLtg)
(1) l\(b (b) 1:2 () 4:1 () 114
®

A spheeal ball of radius # units is melted to make 8 new identical balls each of radius
py units, Then g ey s
(n) 2:1 (b) 1:2 (¢) 4:1 (dy 1:4
oy Frnest a6y apap @ oGung Sadptb G1edsr, Lwin eredar
GV LIE, Gratarconid @t tnmsie! o pnoe)
3 |
(n) 1 (b) 0 (c) = () -
0 O

A fair dic is thrown once, ‘The probability of getting a prime (or ) composite number is

129
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I

5 i

(a) 1 (b) 0 (©) % (d) +

14, $C Qe daiu L earsafled 61g) LIJaIeH IGamal Bad
(a) ofd & (b) S L eNevdisLd

(0) &L Fnnaif] () efevdics @Ifdid ST

Which of the following is not a measure of dispersion?
(b)standard deviation

emeV?

(a) range
(¢) arithmetic mean (d) variance
u@$)- 11/ PART -11 Q}
(ofliGiatase : 24) / (Marks : 24)
10 T aenss @ afleoL wellds. aflamT el 28 -4& n @Lwaﬁmm
Answer any 10 questions. Question no. 28 is compulso& 10x2=20
o5 [ x =3x—Seew

15. faeg Rewig R-4@ xer sy 6T6s%
Q f-GU DGTGNET &TaN

uegwpssIuEngy. a4  LDpILD
Car(RSstuLme a tompid b -udledr meﬂuuA=
Let 7 be a function from Rto R defincdyby f ¥=3x—5. Find the values of aand b

given that a,4 and 1,b belongto

16. R= x,—-2, -5y  er6tiug/ Fafaud  @Ulg@eoafledd  x LopHpi y

amﬁ?u.m:g)gﬂm Loaﬂuqereu)mdr
If R= x,—2, =5,y represgnls dcnllty function, find the values of xandy.

17. @@ Fal' (G GISHILI GV 601, —1,, =32 craafled gett Qg elGSunsdess
HITGOT 5.

1c€ of an AP in which ¢, —1, =32

Find the common di
UL 19D GTHB®ET APLP GTevr BIaYEeT 2 GGG GT6uld)

18. 3x=1 mod15°
asnea'mr
Find the rﬂbcr of integer solutions of 3x=1 mod15 .

peuards : 14-3+4-5-4-+--+55.
um of 14-3--5-----55.
LB 560 wpapuley Sidis : 2x* —2+/6x+3=0.

¢ by factorization method: 2x* — 2\6x+3=0

19. Ja_

A

21. (5 eTelT LPpILD g6 gamavbhl adlweuppler efgdhmeid %m«uﬁsb, Db

GTGUITGNGUUTS; TGO,
; . . . 2
If the difference between a number and its reciprocal is rE find the number.

22. T +ax+2=0 GG FLOGTLITL IQGHT eLPGUEIBET o, LoPpID B—oa=——
7
a -6b7 Lo SITGVsTS.
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P S " " | ‘
T AR e TN WL e \\‘l“‘“h\“ }\l. " ‘ Q4 ) m“| “ “ iy & " ‘ ”""” ”“I' ”.‘,

valie ol 3,

n — N ) \) ; ) §
Moo - O J.\l.\ml“\ “\\\ m?n.\!in ."‘"*\'}n“’u‘l]ﬂ\h\l “\“N-J “d\"ﬂ“ul!“h |3‘M";,‘Jj‘.',m [Janlih H'U
ARDED NN Qs qehalsaahr i Oeabgonh G dhan sy Ghbict

SN X a0 1) BN,

'1"\? ]ihi‘ lhi\\\L‘:‘\ n\i‘ ]\\\i\“\ — _‘\(‘\ ““d .I‘N \H Ih‘l‘hgn““.‘.”h”' '” lhﬂ “"U ”Hl"“lh 'h” .“””l"'
QAN . “ "
&]- "\j\\‘ \\\-‘-\." S }l“d "]‘\ \ “\\h\ \‘| \‘ X @

2 N3 W RaunapaSien SO ey o e anhay 10" @iy b el el

SRR 1D phd) by B araallaly 1od) g a0 bt

QI Ru SN Daranenanard &1e,

Tram the Wp af 2 ek S0V m high, the anale of \lb‘l\l\‘ﬁﬁiﬂw vn o tha gl s

ahsarvad 1 b 307, Find the distanee af the ear from e e
Xoom damp Garad i ,}}:\-ﬁ\lll\ YRR K .p ..:;H!,.:mi_!la\hf‘l,-m-m Wl i hon

LTDILVIRYEST F1D SN vanNsh) ety aypgarlad anth A aranr bl

A =00hid sphare and a solid homisphere have m\m\b\im few aren Prove that the patlo ol

Thar volome I8 3\[‘: 1+,

o whaadd 21 Quish ey @it afand Sl amfdh,
Tind the standard daviation of fitst 2 lna mhors,

LA mpned B b Qu
FnaRmiRnad, Qanaald
mhned R .@Jh:m@mh EEHRY

NN L I L A L S VR AT
o ) A IS (Blm ke 03,
atwinangdaran  Rahniay 0wl A
B O DhE0 IR N # Rahnaa O atan [Klenidh,
Aand B are wvo cnndidmng admission © T The probanbiliy that o4 potiing safesid
3 03 and the po N\ ae both Aand Aeeting solootad i 0.0, Prove that (he
prohability of § bagackeetad is at most 0N
2R AARC-a, L Ns:ﬂv AR Y AC -1l apanSur i O aradin stk
o . Xo=%brU, PE=abrl), AQ=3brU sdnnh 7= 10hy gl

RO=D]OLP BN
P:m:i%ph‘mts on sides AR and ACvespectively of AARCIT AP = Yom, PR oo,

40=3cm and OO=10cm, Shaw that RO =30,

i LEH- M/ PART - 11
(e Ruatraaty 1 30) 7 ( Marks 1 &)

10 S s@pd e afanr woNds afenit arar 42 -deh SELIHININ TR ITR T

Amswer any 10 questions, Question na, 42 s compulsory, A= Al
20, Drarmied #7103 BB ST LN
241 @y v =3,
x—9

MOFfa=

(R

\ P 9

ned.yv'
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g 2.\'-!‘*1 PR - ‘r_2.
Write the domain of the following functions : (i) / x =—_\:j (i) g x

— ¢ hmL =x' &5
30. f:R—-R wppnd g:R—R ereien wpepGis f x =x oppIbg X 1)
/ UTUDIGSIICLNG f,g Adieas eipIdGsnsiipreign eieiajth [ og s155L1Z)

PGS IS HTGTDITES FMILITGHLDIT GTGIGLD T 15. ' _
5 e o
If /:R—R and g:R—1R are defined by f x =x and g x =x then check if f and

g arcone -oncand fog isonc-onc? . i ¥
LW S LGS Qunig anflavauieh wpsed po 2 pilinseflasr &@g@ap' +bp erestlsn
2561 gy aflgEuna ghenesd wressrs.
If the sum of the first pterms of an A.P is ap?® -+ bp . Find its com
32. @ BUT S BlpieedFet ieent GLosvrenynat L OYBFIEDTIT. SIS,
SQubFlniuetd wpsev Lo sadluions I 60,000 aupifaMgs LHDID HeFT(® 20w
o wie) 5% euBIGaSTS UUSESTTEDSG. 5 i (plaailsh DsuBenLw 1%
oabILD 6TaIGUGTR?
2 mc any gave him a starting salary of

A man joined a company as Assistant Manager.
¥60,000 and agreed to increase his salary 5% annttty. What will be his salary after 5 years?

33. c—ab x* =2 a* —bc x4+ —ac =0 GIIMFLOGSIUNTLIQEN eLpeUkIBET Guous oHmib
FLoLD 6Te¥fleh a =0 ebevgy a' + b +f“ be 61631 [FlemLa.

3 e ]
2 a=bc x+b"—ac=0 are real and equal,

-

crence.

If the roots of the equation c¢*—a
prove that cither a=0 or a* 45" W' 2 3abe.
34. @' +4a—12, @ —5a+6 coqub) uhiminCsneaiselssr 1BOUT.e a—2eraih

IO DI SHCHTME [ LO.GWIT.LD B16vyTes,
Find the LCM of the polsomills * +4a—12, a* —5a-+6 whose GCD is a—2.

-1 5
=[ 3]msuf?sb A BC = AB C e1av Blprays.

-1 5
],C:[ ] prove that 4 BC = AB C,

1 3
36. AP Xmﬂueﬁasfo OR -4 QFhigssns o eren PS UNNH QR-gg S -a
& - GLoguitd, OS =38R staflled 2PQ* =2PR* + OR® Graw B miays.

5 endicular PS on the base OR of a APQR intersects QRat §, such that 0§ =38R.
ﬁbye that 2PQ? = 2PR* 4+ OR?. -

37. A 62 ,B -5—-1 wopup C 1,9 Shuupern epmenseriad Qe AABC -6
woar A u9f@ig LD BOSCs1(B  oHpminh GSH1FCHNL 1960
FLOGTLT(HEGT & BTG5, .

Find the equation of the median and altitude of AdBC through A where the vertices are
A62,B-5-1 andC 1,9 . |

28 [cos’ A—sin® A}__(cosJ A+sin® 4

cos A—sin 4 cos A +sin A }-__ 2sin Acos A 676 (flesi9d:.
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N, |~\ 4 " 1
Prove that l*“ﬁ A sin '] cos’ Apsin'd)
N AL T == L CO8 /1.
N CO8 A --sin A 8in A cos 7
a0 AL N\, b :.“" ‘W § ’ " . #ob
30, O S &.w,J‘Ja.un‘.\x:_‘gj,y,‘}“-ﬁ; amuinrn 10br U coyeth, 218600 CGroiym, Sprigm

I ATy ‘. \ P f ' 7
LSS o dmsiey 28 bt (), 18 by r 1) grenfleh oiggebr avamanigiiontid: ariatars?
It the slant height of the frustum cone

is 10emand perimeters of its circular base arc 18cm
- .
and 28em vespectively,

l} L) "
What is the curved surlace area of the frustum?

60 O Wymd opputd 15br ) 2t Qsnai e 2 (HHEIaIG.aI LEZe
QUUSNTEL  uallddnth o eireng). ihols  Uafldomiprengl, daLbl LODDID
SHQISSSTOD Qb aulg audfeh Botutu@Hns). da b6 2w 9bruU

WwHDID YT 3br U erafled, ungflghled o cren Lieslldhda mLp @ 6T
& LoyseT Cxenal?
15€mis

A night circular cylindricalicontainer of base radius Gcm and ht@ full of ice

cream. The ice cream is to be filled in cones of height 9cmand padegadius 3cm, having a

hemispherical cap. Find the number of cones needed to emp ainer.
£1.  syeumld 'L eusnersufeh) R yeirailudlest Ug,g,n;g.&, LD GEsTRT&6ITGsT D UITLD
LHID eTeLsaflesr Fgnsf) whpid efeds @idss sl afw  wHliLseT
Qe (Bésiul (hererer. Geunlet a1a LonGinTaigag il 2ibls Caipun(® 2-LIg!?
WL GTamL i.
Fyn&f] 155br 46.50 ) |
Mevss auisdassgnadl | 72.25br U2 | 289

The following table gives the values o@m and variance of heights and weights of the 10"

standard students of a school. Wlyel is more varying than the other.
' Teight Weight

155cm 46.50kg
rance | 72.25cm?* | 28.09 kg?

. i .
42. (5 [HTGWILILD @M wpeovm G LUBEDS). Fflwns @er(h) HMEUSET DIGLeVL)
GODHSULFLD U 2cvevg 20550G% @oe(h) seeder Sl ULbnasne

A coin is\% rice. Find the probability of getting exactly two heads or at lcast one tail or
two conseculiwve heads.

u@d)- IV | PART -1V
(oS 1Gluedsraei : 16) / ( Marks :16)
BLpssnegd ewTeEEHHS el warldsayLb.
Answer the following. 2x8=16
43.21)  OR -0 Suqliussionsd Gsnaw. @@ wdGanemiser QPR pmib OSR -abr
oaljereflser  Poppib  S-6  OemGsneamigenns ieiobgierener. @)
wpdGamemmiis@pd OR -1 @G usssdled iemibgisiene. PRwpDpid SO
eresTp udamiger Terern yerefileh Fhdlddleimen erefled, PTXTR=STxTQ
616w [Flmiays. |
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Two triangles QPRand QSR right angled at Pand § respectively arc drawn on the
same base on the same side of QR. If PR and SQ intersect al T, prove that
PTXTR =STXTQ.

(OR) (<216b6vg/)
6brUeflLaparer et eveobgy  oulLddatr  amowgSladlesbs 8 br U
Cstevaled P eretin yereflewd @pldaaty. Siiaralfedawbs PA 1oppib
PB e1ai1p @ O31(HCsn1 (a6 aueniiha) 2ieummlasr (e isenarr 216maN(H%

from its centre.

Draw a circle of diameter 6¢m from a point P, which is 8cmaws
Draw the two tangents PA and PB to the circle and measure thgir

: L) . . . L) 2
Y=x"—=5x—06-601 QUMJULLD GUMIHZ], IIHENEILI LILIGHT x°—5x—14=0

STESTD) FLOSSTUNL DL g Sijd:ma|LD. &
Draw the graph of y = x> —5x—6 and hence solve x? ;61 =

o \O
(216L6Vg),

beb10\ b 30 FILB_LD  SMOGLOMSL)
Camil_gamasd  Fiflwner  Crygdled
Causgamy Loassldi@ 25» U 21haiiubss
QULPGidLo eyt Gauddhendd;  TaisTs.

D whwpns ypiuL  Gevermigu
yoourg. 1500 U grggdled o
ClFimEnLIL SN GULYS

¢ scheduled time. In order to reach its destination
crease its speed by 25km/ hrfrom its usual speed. Find

A car left 30minutes later
150km away in time, it has {04

its usual speed. Q
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Seflgid (onh)f) efewndgmer-1)
MATHEMATICS ( MODEL QUESTION PAPER -1)

—

ofeuit cTadyr

QuestionNo | V| 23 a5 6|7 8|9 |twofm]iz]i3|n
AL SSIID | o1 | o | 1 Qla|la|@|a|r || 7|8 |

Answer Key AltAalbplclplclalplcliplBlc] A

&Sewllgd ( Lond)f) eflewndgmer-11 ) Q
MATHEMATICS ( MODEL QUESTION PAPER &0

ellewm TevT )

OuestionNo | V| 2|3 |4 5|6 | 7|8 | oNOMi1|12]13]14
oL sSii® | <o | 2 |9 |2 | @ | < | < 2|a|2|0|2

Answer Key A|lB|B|B|C]| A c|B|B|B|C]|C

dsmﬁgsl.b(mHWrrggndr- 11 )
MATHEMATICS ( Mo@ ESTION PAPER - III)

Question No 3 4 6 7 8 9 10 | 11 | 12 | 13 | 14
e d@Bui®| C | Ce A|lB|A|D|B|D|ClA|lA]|C

Answer Key ; Al ||| Fla|lF | ||| B

(b sefisid ( Londfl aerngsmer- IV )
°§ MATHEMATICS ( MODEL QUESTION PAPER - IV)

eleorT r6ssT -

Question No 1 2 3 4 5 6 7 8 9 10 ] 11 [ 12 ] 13 | 14
dewrsgpfG| c | c|A|Cc|A|B|C|D|B|C|B|B| A|B

Answer Key Q| |@|=| || F || ||| <24
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QNI G167 ]
Question No Ll 23lal|ls|e| 7|89 ]|t0]]I12]I13]14
mﬂ@\Léa@[m{ﬁ@ |l | @ | | @ || 7 |8 ||| F | g | =
AmwerKey | D | A|lc|Aaflc|Aa|D|lC|B|B|D[A]C]A
sewflg Lo ( Lomdifl eflewnggmer- VI ) Q E
MATHEMATICS ( MODEL QUESTION PAPE 01’1
eflewrm Grevs ;
11|12 | 13 | 14
Question No 1 2 3 4 5 6 7 8
G)S)@LJE@D’?U?@BDBDDBq B|D|A|C|C
Answer Key | T | 2| T F @ o |m||F|=2|8]|9
.\Q‘(\
.\Q
N
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